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SOME p-BLOCK ELEMENTS

Warm Up Exercise

1. Which is the most abundant metal in the earth's

crust?

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_jwTQ2W2yJc8X

2. Name the principle ore of aluminium. How is the

metal extracted from this ore ?

° Watch Video Solution

3. Atomic radius of Ga is somewhat less than that of

Al-why?

o Watch Video Solution

4. The first ionisation enthalpies (A;H;) of group-13

elements are lower than those of elements of group


https://dl.doubtnut.com/l/_jwTQ2W2yJc8X
https://dl.doubtnut.com/l/_hi7xZXTGCN8z
https://dl.doubtnut.com/l/_0bfMPNxnfPGi
https://dl.doubtnut.com/l/_GQfzg5p8UIFz

2-Explain.

o Watch Video Solution

5. The stability of + 1 oxidation state follows the

order: Al < Ga < In < Tl -Explain.

° Watch Video Solution

6. Why is boron unable to form B** ion?

° Watch Video Solution



https://dl.doubtnut.com/l/_GQfzg5p8UIFz
https://dl.doubtnut.com/l/_I9TptGoVGhKz
https://dl.doubtnut.com/l/_QI7pmTFDwRRy

7.T1*" salts act as strong oxidising agents-why?

o Watch Video Solution

8. Which of the group-13 elements is used in
thermometers for recording high temperatures and

why?

° Watch Video Solution

9. Boron is a non-metal and a bad conductor of
electricity while aluminium is a metal and a good

conductor of electricity. Explain.


https://dl.doubtnut.com/l/_lVqevW5JJreS
https://dl.doubtnut.com/l/_m0s9te3Jbrxc
https://dl.doubtnut.com/l/_qemoMz8vze3y

° Watch Video Solution

10. Why does density increase on movingfrom B to TI?

o Watch Video Solution

11. Explain why the elements of group-13 are expected

to form covalent bonds in +3 oxidation state.

o Watch Video Solution

12. Which elements out of five members of boron

family react with dinitrogen to form nitride?


https://dl.doubtnut.com/l/_qemoMz8vze3y
https://dl.doubtnut.com/l/_4ZCCf4lVAvUF
https://dl.doubtnut.com/l/_JTLHoHbnYavH
https://dl.doubtnut.com/l/_zHzmoHK5U2dg

° Watch Video Solution

13. What is ‘'inorganic graphite'’? Describe its

structure.

° Watch Video Solution

14. The basic character of the hydroxides of group-13

elements increases on moving down the group- why?

° Watch Video Solution



https://dl.doubtnut.com/l/_zHzmoHK5U2dg
https://dl.doubtnut.com/l/_Hw1enJmKXi4V
https://dl.doubtnut.com/l/_UggauHmzxezZ

15. How would you establish that aluminium oxide

(Al;03) is amphoteric in nature?

° Watch Video Solution

16. Give reactions to justify the amphoteric nature of

Ga.

° Watch Video Solution

17. Explain why aluminium vessels can be used to

store cone. nitric acid (HNOs)

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_bCjic2i0JeLi
https://dl.doubtnut.com/l/_yWiin6Qf8vdG
https://dl.doubtnut.com/l/_uKHXqnCpP2pS

18. Give an example of a complex hydride of

aluminium and mention its use.

° Watch Video Solution

19. What is corrundum? Mention its use.

° Watch Video Solution

20. Explain why the trihalides of boron act as Lewis

acid.

-y l


https://dl.doubtnut.com/l/_uKHXqnCpP2pS
https://dl.doubtnut.com/l/_nEaqnG0arGx2
https://dl.doubtnut.com/l/_I5i4pohtJS6O
https://dl.doubtnut.com/l/_O6BVhTtAMJwh
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21. Which one of BF3 and BI; acts as a stronger

Lewis acid and why?

° Watch Video Solution

22. Unlike aluminium chloride, boron trichloride does

not exist as a dimer-why?

° Watch Video Solution

23. Why does BF; forms an adduct with ammonia?

| o |


https://dl.doubtnut.com/l/_O6BVhTtAMJwh
https://dl.doubtnut.com/l/_7OIikjb0OHz6
https://dl.doubtnut.com/l/_M4GEiQw3BnbV
https://dl.doubtnut.com/l/_vAovG0krCOyb

| & Watch Video Solution

24.Boron is distinctly non-metallic-why?

° Watch Video Solution

25.Boron is an extremely hard solid-why?

o Watch Video Solution

26. Give the names of 3 crystalline allotropic forms of

boron.

° Watch Video Solution



https://dl.doubtnut.com/l/_vAovG0krCOyb
https://dl.doubtnut.com/l/_SWG6vqgFkHMN
https://dl.doubtnut.com/l/_49z8pQWWOh1x
https://dl.doubtnut.com/l/_xGgVn5DE3oc6

27. Using chemical reactions show that boron acts as

an oxidising agent as well as a reducing agent.

° Watch Video Solution

28. How can boron carbide be prepared? Mention its

use.

o Watch Video Solution

29. Metal borides having °B are used in nuclear

reactorswhy?


https://dl.doubtnut.com/l/_xGgVn5DE3oc6
https://dl.doubtnut.com/l/_WetLCsFW6hLZ
https://dl.doubtnut.com/l/_nlFfngMQMo83
https://dl.doubtnut.com/l/_WS3344k71E6H

° Watch Video Solution

30. What is the building unit of various allotropic

forms of B?

° Watch Video Solution

31. Write the reaction of amorphous boron with

strong alkali.

° Watch Video Solution

32. Aqueous solution of BClj is acidic in nature- why?


https://dl.doubtnut.com/l/_WS3344k71E6H
https://dl.doubtnut.com/l/_CqZGCvixxH2M
https://dl.doubtnut.com/l/_giPUuIi8N9VF
https://dl.doubtnut.com/l/_48B7h4o3zhDi

° Watch Video Solution

33. Why is boron used in steel industry?

° Watch Video Solution

34. The formula of borax should be written as
Nas [B4O5(OH)4] .8H,0 instead of

NayB4O7. 10H50 - explain this fact.

° Watch Video Solution



https://dl.doubtnut.com/l/_48B7h4o3zhDi
https://dl.doubtnut.com/l/_sUnCHGTfU9d4
https://dl.doubtnut.com/l/_ArEZWK0MkLbT

35. What happens when borax is heated in a platinum

loop strongly?

o Watch Video Solution

36. Explain why an aqueous solution of borax is

alkaline?

° Watch Video Solution

37. When phenolphthalein is added to an aqueous
solution of borax, the solution becomes pink in

colour. However, when glycerol is added to that


https://dl.doubtnut.com/l/_xMS1OjHY4MJS
https://dl.doubtnut.com/l/_H87VpeSivSwo
https://dl.doubtnut.com/l/_bN3dmoa6bSRJ

solution, it becomes colourless again. Explain these

observations.

° Watch Video Solution

38. What is goldsmith's suhaga?

° Watch Video Solution

39. How can you identify a salt which contain cobalt

by borax bead test?

° Watch Video Solution



https://dl.doubtnut.com/l/_bN3dmoa6bSRJ
https://dl.doubtnut.com/l/_U81tJz1imdVB
https://dl.doubtnut.com/l/_SzKJTYPu9V7M
https://dl.doubtnut.com/l/_V5l8DVXrPJ0s

40. State with chemical reaction how can boric acid

be identified?

° Watch Video Solution

41.Boric acid is a monobasic acid-explain.

o Watch Video Solution

42. When boric acid is allowed to react with

ammonium bifluoride, no residue is obtained-Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_V5l8DVXrPJ0s
https://dl.doubtnut.com/l/_Q2YRRLat2jfg
https://dl.doubtnut.com/l/_Rv2Tf5Mqxgmc
https://dl.doubtnut.com/l/_tE9Pp9TrC717

43. Aqueous solutions of two acidic compounds are

reacted to give alkaline solution. Give example.

° Watch Video Solution

44, BOg_ has trigonal planar structure-why?

° Watch Video Solution

45. Although boric acid [B(OH),| contains three -OH

groups, yet it is sparingly soluble in water-why?

° Watch Video Solution



https://dl.doubtnut.com/l/_tE9Pp9TrC717
https://dl.doubtnut.com/l/_mXFGGOoTop6m
https://dl.doubtnut.com/l/_jRWKmH8cru3K
https://dl.doubtnut.com/l/_pUBzft7wEzQj

46. What is inorganic benzene? Why it is called so?

o Watch Video Solution

47.Explain why diborane (ByHj) is electron deficient

but ethane (CyHg) is not.

o Watch Video Solution

48. Explain the structure of diborane (ByHj) on the

basis of hybridisation.

° Watch Video Solution



https://dl.doubtnut.com/l/_pUBzft7wEzQj
https://dl.doubtnut.com/l/_Z9j7NYgyUc1e
https://dl.doubtnut.com/l/_AkHPu0lDFHfl

49, State with equation what happens when diborane

is treated with ammonia & then heated at 4 73 K.

° Watch Video Solution

50. From which ore Al can be extracted profitably?

o Watch Video Solution

51. Which Al alloys are used for constructing aircrafts?

° Watch Video Solution



https://dl.doubtnut.com/l/_KQOhW8raua4u
https://dl.doubtnut.com/l/_r0JZmYwWCm0l
https://dl.doubtnut.com/l/_K5B1zsQKCB2Y
https://dl.doubtnut.com/l/_sXsdY66K8kYI

52. What is ammonal? Mention its use.

o Watch Video Solution

53. What happens when aluminium reacts with hot

and cone. NaOH solution?

o Watch Video Solution

54. Why metallic lusture of aluminium disappears

when kept in air?

° Watch Video Solution



https://dl.doubtnut.com/l/_sXsdY66K8kYI
https://dl.doubtnut.com/l/_lRJGLHdRZzGH
https://dl.doubtnut.com/l/_8Q93LrApzv2U
https://dl.doubtnut.com/l/_tdRPZatXrboa

55. Which element among the following does form

prm — pm multiple bonds ?

° Watch Video Solution

56. Account for the anomalous behaviour of carbon

from other \group-14 elements.

o Watch Video Solution

57. Explain the following order of first ionisation
enthalpies (A;H;) ofgroup-14 elements: C >Si> Ge>

Sn< Pb

| o |


https://dl.doubtnut.com/l/_tdRPZatXrboa
https://dl.doubtnut.com/l/_qgeXwrLZSrI3
https://dl.doubtnut.com/l/_kN7pwwd4kn55

| & Watch Video Solution

58. What do you mean by radio-carbon dating?

° Watch Video Solution

59. (SiHj3),N is a weaker Lewis base than (CHj);N.

Explain.

° Watch Video Solution

60. The shape of (SiH3), P is pyramidal. Comment.

° Watch Video Solution



https://dl.doubtnut.com/l/_kN7pwwd4kn55
https://dl.doubtnut.com/l/_PBPIbPZES8bb
https://dl.doubtnut.com/l/_6QR4AD2uCcyU
https://dl.doubtnut.com/l/_vfe8Ik6jod66

61. Which element among the group-14 elements is a

metalloid?

° Watch Video Solution

62. The compounds in which the elements of group-
14 show an oxidation state of +4 are expected to be
covalent, whereas the compound in which they show
an oxidation state of +2 are expected to be ionic-

explain with reason.

o Watch Video Solution



https://dl.doubtnut.com/l/_vfe8Ik6jod66
https://dl.doubtnut.com/l/_lvgPI9c2EFQq
https://dl.doubtnut.com/l/_BcTlnsTNHA9y
https://dl.doubtnut.com/l/_WhZBaYge39fx

63. Explain why the Sn (Il) salts are used as reducing
agents while Pb (IV) salts are used as oxidising

agents.

° Watch Video Solution

64. Explain why Pbl, does not exist.

° Watch Video Solution

65. CCl, does not undergo hydrolysis, while §iCl,

hydrolyses readily-why?

o Watch Video Solution



https://dl.doubtnut.com/l/_WhZBaYge39fx
https://dl.doubtnut.com/l/_w184wEYZO9Eo
https://dl.doubtnut.com/l/_Xv87kNC1BcYh

66. Which compound of lead is used as "Sindoor"?

° Watch Video Solution

67. Among the dioxides of group-14 elements, PbO, is

the strongest oxidising agent- explain.

° Watch Video Solution

68. Give the Lewis acidity order:

S’I:F4, S’I,Cl4, S’I:BT‘4, S’LI4

[ ° Wiak~h \lidAan Caliikian



https://dl.doubtnut.com/l/_Xv87kNC1BcYh
https://dl.doubtnut.com/l/_xr5Fob5jRa12
https://dl.doubtnut.com/l/_mOyDDhIjA6Zt
https://dl.doubtnut.com/l/_kCG4u9b8seIk
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69. What do you mean by allotropes and allotropy?

o Watch Video Solution

70. What are the crystalline and amorphous allotropic

forms of carbon?

o Watch Video Solution

71. Diamond is effectively an electrical insulator while

graphite is a good condu c tor-why?

S ]


https://dl.doubtnut.com/l/_kCG4u9b8seIk
https://dl.doubtnut.com/l/_gyVNHeltNv5x
https://dl.doubtnut.com/l/_4xjrcMJbrDjW
https://dl.doubtnut.com/l/_VYzFR9PeM9J2

| ¥ Watch Video solution |

72. Although diamond is a covalent substance, its

melting point is very high-explain.

° Watch Video Solution

73. Explain why graphite possesses lubricating

properties.

° Watch Video Solution



https://dl.doubtnut.com/l/_VYzFR9PeM9J2
https://dl.doubtnut.com/l/_PWJV6mvFAMKM
https://dl.doubtnut.com/l/_GKbN9CqW3mpq

74. How can you distinguish between diamond and

glass?

° Watch Video Solution

75. Which of the allotropic forms of carbon conducts

heat better than any other material?

° Watch Video Solution

76. How many five- membered and six-membered rings

are present in Cgq fullerene?

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_9dNAvJc4VfM3
https://dl.doubtnut.com/l/_fYSuHWZKnW08
https://dl.doubtnut.com/l/_6Jt0fI6Ybz3l

77. Which allotrope of carbon is used as a moderator

in the nuclear reactor?

° Watch Video Solution

78. What is the state of hybridisation of carbon in

fullerene?

o Watch Video Solution

79. Fullerenes act as wonderful lubricants-why?

e @ l


https://dl.doubtnut.com/l/_6Jt0fI6Ybz3l
https://dl.doubtnut.com/l/_PFL27usqOuTy
https://dl.doubtnut.com/l/_45ZUUkrNugeb
https://dl.doubtnut.com/l/_5waiieeohGWV
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80. How can you decolourise a sample of slightly

brown coloured impure sugar?

° Watch Video Solution

81. What do we obtain if cone. H,50, is dropped on

sugar?

° Watch Video Solution



https://dl.doubtnut.com/l/_5waiieeohGWV
https://dl.doubtnut.com/l/_LzAKKNjv8wre
https://dl.doubtnut.com/l/_CVWdudc5oJsD

82. Give two differences between diamond

graphite.

and

° Watch Video Solution

83. Why is CO toxic?

o Watch Video Solution

84.CO is a combustible gas but CO, is not-why?

° Watch Video Solution



https://dl.doubtnut.com/l/_Ijnu2MGzuXPY
https://dl.doubtnut.com/l/_RYIjkX9Sc8SX
https://dl.doubtnut.com/l/_6hEsmZFt6ssh
https://dl.doubtnut.com/l/_OVKvpGHw5RJ7

85. Explain how carbon dioxide acts as afire

extinguisher.

° Watch Video Solution

86. A burning magnesium ribbon cannot be

extinguished by carbon dioxide-why?

° Watch Video Solution

87. CO has both oxidising and reducing property-

explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_OVKvpGHw5RJ7
https://dl.doubtnut.com/l/_GYgmwo57CUqn
https://dl.doubtnut.com/l/_xBXrA0w04ZiO

88. CO, act as oxidising agent but not reducing

agent-why?

° Watch Video Solution

89. CO forms addition compound but CO, does not-

why?

° Watch Video Solution

90. Unlike CO,, CO is used as a fuel-why?

° Watch Video Solution



https://dl.doubtnut.com/l/_3RRUdk2dDu8n
https://dl.doubtnut.com/l/_W4Glmo9JnfQY
https://dl.doubtnut.com/l/_Mw3GhdLCGUbP

91. Explain why blue flame is seen in coal oven.

° Watch Video Solution

92. How will you separate CO and CO, from a

mixture?

o Watch Video Solution

93. What do you mean by baking powder? Why is it

used in the preparation of bread?

° Watch Video Solution



https://dl.doubtnut.com/l/_Zz1gfJ2ofBqT
https://dl.doubtnut.com/l/_si48or6RaJHm
https://dl.doubtnut.com/l/_p5ZEFlzoWbru

94. How will you con.firm that a gas is CO, but not

SO,y ?

° Watch Video Solution

95. In preparing CO5 from marble, which one of the

two acids HCl and H,50, should be used and why?

° Watch Video Solution

96. Give example of a reaction in which CO, acts as

an axidising agent.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_tXFTAnY8jHMv
https://dl.doubtnut.com/l/_88SOgri21zfH
https://dl.doubtnut.com/l/_V980z7DajSjQ

97. Explain why COs is a non-polar molecule.

o Watch Video Solution

98. Why is solid carbon dioxide called dry ice ?

° Watch Video Solution

99. Mention one use of super critical COs.

o Watch Video Solution



https://dl.doubtnut.com/l/_V980z7DajSjQ
https://dl.doubtnut.com/l/_K2emnJGy6nh0
https://dl.doubtnut.com/l/_JNCJTdPwuqjs
https://dl.doubtnut.com/l/_heIS5UDZtqsA
https://dl.doubtnut.com/l/_hBbPJxeQBhC9

100. Write formula of white asbestos. What type of

silicate is it?

o Watch Video Solution

101. How can ultrapure silicon be prepar e d from

impure silicon?

o Watch Video Solution

102. Which anions are present in orthosilicates &

pyrosilicates?

° Watch Video Solution



https://dl.doubtnut.com/l/_hBbPJxeQBhC9
https://dl.doubtnut.com/l/_6E1QY3jUZo5k
https://dl.doubtnut.com/l/_IEzE5BjTss4S

103. What are silicates? How are they classified?

° Watch Video Solution

104. Explain why silicones are water repelling in

nature .

o Watch Video Solution

105. How can silica gel be prepared from SiCl, ? Give

two uses.

° Watch Video Solution



https://dl.doubtnut.com/l/_IEzE5BjTss4S
https://dl.doubtnut.com/l/_UbUd51c58A0U
https://dl.doubtnut.com/l/_czr7GiJptAWK
https://dl.doubtnut.com/l/_UgS4orpD1BVA

106. Write the structure of the anion present in

pyrosilicate .

o Watch Video Solution

107. What are zeolites? Give two important uses of

zeolites.

o Watch Video Solution

Question Answer Zone For Board Examination Very

Short Answer Type



https://dl.doubtnut.com/l/_UgS4orpD1BVA
https://dl.doubtnut.com/l/_boBYFDqs5trH
https://dl.doubtnut.com/l/_6zHNNvBLla1e
https://dl.doubtnut.com/l/_RscwPQ0i1uTD

1. Name one ore of boron and give its formula.

° Watch Video Solution

2. What are the two isotopes present in natural boron

?

° Watch Video Solution

3. Which element of group-13 has the most stable +1

oxidation state ?

° Watch Video Solution



https://dl.doubtnut.com/l/_RscwPQ0i1uTD
https://dl.doubtnut.com/l/_HR5lJs3ZB4sF
https://dl.doubtnut.com/l/_aCNPEEO0v41u
https://dl.doubtnut.com/l/_GZOZjfovLbVw

4. Which elements of Gr-13 form amphoteric

hydroxide ?

o Watch Video Solution

5. Which elements of group- 13 forms only covalent

compounds and why ?

° Watch Video Solution

6. Give the general valence shell electronic
configuration of group-13 elements. What is their

common oxidation state?


https://dl.doubtnut.com/l/_GZOZjfovLbVw
https://dl.doubtnut.com/l/_5UPDZTuHlmgw
https://dl.doubtnut.com/l/_l0GThnMINC35

° Watch Video Solution

7. which one among group-13 elements has the

highest value of ionisation enthalpy?

° Watch Video Solution

8. Which element of Gr- 13 is the most abudant one ?

o Watch Video Solution

9. Write one physical characteristic of boron in which

it differs from the other members of group-13.


https://dl.doubtnut.com/l/_l0GThnMINC35
https://dl.doubtnut.com/l/_gCS59HERyZ2j
https://dl.doubtnut.com/l/_icIQgDnVJ0IV
https://dl.doubtnut.com/l/_TXuK9I9V6p6O

° Watch Video Solution

10. Why boron compounds such as BFj are called

electron deficient compounds?

° Watch Video Solution

11. Which of the Gr- 13 elements forms acidic oxide ?

o Watch Video Solution

12. Arrange the following compounds in order of

decreasing strength as Lewis acid : BCl3, BBrs, BF;


https://dl.doubtnut.com/l/_TXuK9I9V6p6O
https://dl.doubtnut.com/l/_vVFsrwSNePp3
https://dl.doubtnut.com/l/_I6SpJpAMxgQ5
https://dl.doubtnut.com/l/_fA7BfjSHI14Q

° Watch Video Solution

13. Which compound is responsible for the green -

edged flame in a test for borate ion ?

° Watch Video Solution

14. Name the compound which on warming produces

pure BFj;.

° Watch Video Solution

15. Explain why BF63_ has no existence.


https://dl.doubtnut.com/l/_fA7BfjSHI14Q
https://dl.doubtnut.com/l/_2wCZSvEeRS8q
https://dl.doubtnut.com/l/_YZBsfTAV2aSz
https://dl.doubtnut.com/l/_TAoVU7Q3GSYQ

° Watch Video Solution

16. What type of cations are identified by borax bead

test ?

° Watch Video Solution

17. What happens when borax solution is acidified ?

o Watch Video Solution

18. How are the BOg_ units in boric acid linked to

give layered structure ?


https://dl.doubtnut.com/l/_TAoVU7Q3GSYQ
https://dl.doubtnut.com/l/_7rGVfGoCMjFE
https://dl.doubtnut.com/l/_XRrn0z9S6I1G
https://dl.doubtnut.com/l/_149uZpHMdqTn

° Watch Video Solution

19. What is the shape of BOg_ ion?

o Watch Video Solution

20. Which compounds are formed on heating boric

acid ?

o Watch Video Solution

21. Using balanced chemical equat io n show how

B(OH), behaves as a monobasic acid in water.


https://dl.doubtnut.com/l/_149uZpHMdqTn
https://dl.doubtnut.com/l/_aY6nSug7liqu
https://dl.doubtnut.com/l/_ahImB7UlQR3z
https://dl.doubtnut.com/l/_BDB5xEWl7BTB

° Watch Video Solution

22. What are the forces involved between the layers of

two-dimensional sheets of H3 BO3 ?

° Watch Video Solution

23. What is the composition of the transparent glassy

bead obtained on heating borax ?

° Watch Video Solution



https://dl.doubtnut.com/l/_BDB5xEWl7BTB
https://dl.doubtnut.com/l/_fdjpyPU8eimo
https://dl.doubtnut.com/l/_ILCDrLntq1WP

24. What is the structural unit present in all allotropic

forms of boron ?

° Watch Video Solution

25. What type of bonds are present in By Hg molecule

?

° Watch Video Solution

26. Explain why boron connot form B*" ions.

° Watch Video Solution



https://dl.doubtnut.com/l/_BmzTIiNoExhD
https://dl.doubtnut.com/l/_6wHr4Uvn0htV
https://dl.doubtnut.com/l/_wyrFQW2fA9IB

27. Mention the states of hybridisation of boron in

B2H6 and in BF3

° Watch Video Solution

28. Crystalline boron is an extremely hard solid - why ?

o Watch Video Solution

29. What are boranes ?

° Watch Video Solution



https://dl.doubtnut.com/l/_qD3PeBHR8UN2
https://dl.doubtnut.com/l/_B2lyWSSOYhgI
https://dl.doubtnut.com/l/_p6amm6payOtQ
https://dl.doubtnut.com/l/_SCpA8J2VkZoq

30. Boron shows anomalous behaviour and differs

from the rest the members of its family - why ?

° Watch Video Solution

31. Which two out of five members of carbon family

are distinctly metals ?

° Watch Video Solution

32. Which one out of catechol, resorcinol and quinol
can be used to titrate boric acid against sodium

hydroxide using methyl orange as the indicator?

-y l


https://dl.doubtnut.com/l/_SCpA8J2VkZoq
https://dl.doubtnut.com/l/_DemjOK0nq1qY
https://dl.doubtnut.com/l/_q2xfgWC47saw
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33. Carbon forms covalent compounds but lead forms

ionic compounds-Why?

° Watch Video Solution

34. Which element of carbon family has no d-orbital in

its valence shell?

° Watch Video Solution



https://dl.doubtnut.com/l/_q2xfgWC47saw
https://dl.doubtnut.com/l/_o2buENSrKxiO
https://dl.doubtnut.com/l/_VcONaOCu7tjq

35. Among the group-14 elements which is the most

electronegative one?

° Watch Video Solution

36. Which member of carbon famil y has the lowest

melting point?

° Watch Video Solution

37. Which is the more stable oxidation state of Pb ?

° Watch Video Solution



https://dl.doubtnut.com/l/_vDa4wfTpBB8Q
https://dl.doubtnut.com/l/_Kl8lOccDCh47
https://dl.doubtnut.com/l/_3r64amUaeQJb

38. Out of diamond & graphite which is a good
conductor of electricity and which is a good

conductor of heat?

° Watch Video Solution

39. Which member of carbon family has the highest

value of first ionisation enthalpy?

o Watch Video Solution

40. Which member of carbon family has the maximum

tendency to exhibit catenation property?


https://dl.doubtnut.com/l/_Hal943BPIiZx
https://dl.doubtnut.com/l/_gX88Czu9tbun
https://dl.doubtnut.com/l/_kgKxPuCXkzH2

° Watch Video Solution

41. What are the structural units of ice and dry ice?

o Watch Video Solution

42. Among the group-14 elements which one exhibits

prm — pm multiple bond?

o Watch Video Solution

43. Give reasons for which carbon differs from the

rest of the members of its family.


https://dl.doubtnut.com/l/_kgKxPuCXkzH2
https://dl.doubtnut.com/l/_sNW6fGfc9uOS
https://dl.doubtnut.com/l/_43KLSUJDe1Qk
https://dl.doubtnut.com/l/_V1I8CLzF3jzW

° Watch Video Solution

44.What is the basic building unit of all silicates?

o Watch Video Solution

45. What happens when cone. H,50, is dropped on

sugar?

° Watch Video Solution

46. What is buckminsterfullerene ?

| o Watch Video Solution


https://dl.doubtnut.com/l/_V1I8CLzF3jzW
https://dl.doubtnut.com/l/_Nir9SwzH5iSE
https://dl.doubtnut.com/l/_yfKwpwYunXMN
https://dl.doubtnut.com/l/_yVZ2Jc6gpcRL

47. What is the state of hybridisation of carbon in

CO;~ ?

° Watch Video Solution

48. What is the state of hybridisation of carbon in

HCO; ?

° Watch Video Solution



https://dl.doubtnut.com/l/_yVZ2Jc6gpcRL
https://dl.doubtnut.com/l/_QLrR7L4WKhec
https://dl.doubtnut.com/l/_KuigyQzypZO1

49. What is the state of hybridisation of carbon in

CO;y?

o Watch Video Solution

50. Which allotrope of C is used as moderator in
atomic reactors and as solid lubricant for heavy

machinery?

o Watch Video Solution

51. Mention the oxides of C which are the anhydrides

of carbonic acid and formic acid respectively.


https://dl.doubtnut.com/l/_K5L6CKDw9ERI
https://dl.doubtnut.com/l/_rRVG28upEZpB
https://dl.doubtnut.com/l/_7pKrn2n9oYco

° Watch Video Solution

52. Name the gases which are present in producer

gas.

° Watch Video Solution

53. Out of CO and C'O5 which acts as a ligand and can

form a coordinate bond with certain metals and why?

° Watch Video Solution



https://dl.doubtnut.com/l/_7pKrn2n9oYco
https://dl.doubtnut.com/l/_qfAYkE2x3c6H
https://dl.doubtnut.com/l/_kzQXF5PvtO9X

54. What is the state of hybridisation of carbon in

each of the following diamond.

° Watch Video Solution

55. What is the state of hybridisation of carbon in

each of the following graphite

° Watch Video Solution

56. What is the state of hybridisation of carbon in

each of the following fullerene.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_ZI5dWZpGkJZb
https://dl.doubtnut.com/l/_RYU2Up2oUTqi
https://dl.doubtnut.com/l/_LGFr8rxLy3G5

57.What is carborundum ?

o Watch Video Solution

58. Give an example of a reaction where CO, acts as

an oxidising agent.

° Watch Video Solution

59. What are zeoutes ?

° Watch Video Solution



https://dl.doubtnut.com/l/_LGFr8rxLy3G5
https://dl.doubtnut.com/l/_VUvI77jjmTPz
https://dl.doubtnut.com/l/_c2BYfW3ZQqdM
https://dl.doubtnut.com/l/_zUUxoy2h3li3

60. Write the name of the compound used as a fire

extinguisher under the name pyrene.

° Watch Video Solution

61. Name the hardest compound of boron.

o Watch Video Solution

62. What is alane?

° Watch Video Solution



https://dl.doubtnut.com/l/_1zRez3JdsbRp
https://dl.doubtnut.com/l/_jMmmafH0P2cp
https://dl.doubtnut.com/l/_Z9MUTJMCKlY5

Question Answer Zone For Board Examination Short

Answer Type

1. Explain why the B - X bond distance in BXj3 is

shorter than the theoretically expected value.

° Watch Video Solution

2. Boric acid can be titrated against NaOH solution
using phenolphthalein indicator only in presence of

polyhydroxy compounds. Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_rpfMnfm8cUVg
https://dl.doubtnut.com/l/_FMvipADp5pNm
https://dl.doubtnut.com/l/_G7IXpXlZN16a

3. Although aluminium lies above hydrogen in the
electrochemical series, it is quite stable in water and

air. Why ?

o Watch Video Solution

4. Using chemical reactions show that aluminuum is

amphoteric in nature.

o Watch Video Solution

5. Mention 3 similarities in the nature of B and Si.

° Watch Video Solution



https://dl.doubtnut.com/l/_G7IXpXlZN16a
https://dl.doubtnut.com/l/_u7OrkWWF7KfX
https://dl.doubtnut.com/l/_aZxaXjI57XhS

6. "Graphite acits as a better lubricant on the moon
compared to that on earth" - Justify the validity of the

statement.

° Watch Video Solution

7. Explain why PbCl, is a good oxidising agent.

° Watch Video Solution

8. Why do nitrogen and carbon monoxide show

similarities in their physical properties?

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_Yz8BleZzUcdy
https://dl.doubtnut.com/l/_sIgaoxKi98nF
https://dl.doubtnut.com/l/_RcQGJgikaaOu

9. Give reasons

Graphite is used as lubricant.

° Watch Video Solution

10. Unlike diamond, graphite is a good conductor of

electricity-explain.

o Watch Video Solution

11. Diamond is extremely hard but graphite is soft and

slippery -explain with reason.


https://dl.doubtnut.com/l/_RcQGJgikaaOu
https://dl.doubtnut.com/l/_r7EyHIT8jxLO
https://dl.doubtnut.com/l/_yxnqHWflBnzL
https://dl.doubtnut.com/l/_p2UJHR3CYqlO

° Watch Video Solution

12. Diamond is a bad conductor of electricity but a

very good conductor of heat-explain.

° Watch Video Solution

13.In spite of being a covalent substance, the melting

point of diamond is very high-why?

° Watch Video Solution

14. CO is an inflammable gas while C'O5 is not-why?


https://dl.doubtnut.com/l/_p2UJHR3CYqlO
https://dl.doubtnut.com/l/_XZFlu7QmGqKa
https://dl.doubtnut.com/l/_tFicApHmLQLe
https://dl.doubtnut.com/l/_M5slb81b04Gl

° Watch Video Solution

15. How does carbon dioxide function as a fire
extinguisher ? Burning magnesium cannot be

extinguished by carbon dioxide -why ?

° Watch Video Solution

16. Carbon monoxide possesses both oxidising and

reducing properties - why ?

o Watch Video Solution



https://dl.doubtnut.com/l/_M5slb81b04Gl
https://dl.doubtnut.com/l/_8nHXvTSSOIlx
https://dl.doubtnut.com/l/_CGqb3ZC5WGMV

17. How will you convert a mixture of CO and CO,

completely into CO, ?

° Watch Video Solution

18. How will you convert a mixture of CO and CO,

completely into CO ?

° Watch Video Solution

19.[SiF5])°~ is known to exist whereas [CFy]°~ does

not exist. Explain.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_PKfuVGcZ5YdY
https://dl.doubtnut.com/l/_fk5Vpc4566fS
https://dl.doubtnut.com/l/_m2zs6M78ljFD

20. Aqueous solution of sodium hydroxide is added
drop wise to solution of gallium chloride in water. A
precipitate is initially formed. The precipitate
dissolves on furthur addition of NaOH solution.
Explain the observation using suitable chemical

reactions.

° Watch Video Solution

21. Difine buckyball. How is it made ?

o Watch Video Solution



https://dl.doubtnut.com/l/_m2zs6M78ljFD
https://dl.doubtnut.com/l/_fK54zYRfppTU
https://dl.doubtnut.com/l/_2kNTGXSZnXLN

22. CO is readily absorbed by ammoniacal cuprous

chloride solution but CO5 is not. Explain.

° Watch Video Solution

23. Why is orthoboric acid used in talcum powders?

o Watch Video Solution

24. Why , molten AlBrs is a poor conductor of

electricity?

° Watch Video Solution



https://dl.doubtnut.com/l/_lFKqauGk4oLn
https://dl.doubtnut.com/l/_QQJH0z4XgNDk
https://dl.doubtnut.com/l/_aJwI5BuIATke

25. What is the chemical composition of borax bead?

° Watch Video Solution

26. Which glass has the highest percentage of lead?

Mention its use.

o Watch Video Solution

27. Silicon in elemental form does not form a

graphite- like structure. Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_4tRF50MTmjke
https://dl.doubtnut.com/l/_DVl2xprF757u
https://dl.doubtnut.com/l/_lx6hjFufJQEG

Question Answer Zone For Board Examination Long

Answer Type

1. When boron trichloride reacts with water, it only
forms [B(OH),| , whereas aluminium trichloride
forms [Al(H20)6]3+ in acidified aqueous solution.
State the hybridisation of boron and aluminium in

these species and explain your answer.

° Watch Video Solution

2. Diamond tipped tools are used for drilling and

cutting purposes.

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_qNypIbBKD6HT
https://dl.doubtnut.com/l/_Co9buZH8Ge2s

3. Graphite is used as lubricant.

o Watch Video Solution

4.Silicones are water repelling in nature.

° Watch Video Solution

5. CO gets absorbed by ammoniacal cuprous chloride

to form a complex but C O, does not.

° Watch Video Solution



https://dl.doubtnut.com/l/_Co9buZH8Ge2s
https://dl.doubtnut.com/l/_RxTQX5h8PIlV
https://dl.doubtnut.com/l/_MH1ivCsfpW1R
https://dl.doubtnut.com/l/_yFVNhBvFKsV1

6. A mixture of sand and sodium carbonate is melted

on heating.

o Watch Video Solution

7. At 200°C and under high pressure, carbon
monoxide is passed through caustic soda solution

and the product is heated to 300° C.

o Watch Video Solution

8. At high temperature, metallic calcium is made to

react with carbon and the product obtained is


https://dl.doubtnut.com/l/_YXHdFkgY7NUV
https://dl.doubtnut.com/l/_xt4dC36WKDDZ
https://dl.doubtnut.com/l/_mtxJZvLF9SpR

treated with water.

o Watch Video Solution

9. Potassium ferrocyaoide is heated in the presence of
concentrated H,50, and the gas thus obtained is

passed over finely divided nickel powder at 50° C.

o Watch Video Solution

10. Silicon is heated with methyl chloride at high

temperature in the presence of copper.

o Watch Video Solution



https://dl.doubtnut.com/l/_mtxJZvLF9SpR
https://dl.doubtnut.com/l/_HF8H4UQ6yrRN
https://dl.doubtnut.com/l/_JIeMiKWBspt0

11. 570, is treated with HF.

° Watch Video Solution

12. Starting from boric acid how can you prepare boric

anhydride.

o Watch Video Solution

13. Starting from boric acid how can you prepare

boron trichloride.

° Watch Video Solution



https://dl.doubtnut.com/l/_VgKF7SkSXCIh
https://dl.doubtnut.com/l/_lBdPz7qN8qUM
https://dl.doubtnut.com/l/_SY78LJCTiWwd

14. Starting from boric acid how can you prepare

boron trifluoride.

° Watch Video Solution

15. Starting from boric acid how can you prepare meta

and tetraboric acid.

° Watch Video Solution

16. Starting from boric acid how can you prepare

boron hydride.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_SSb08jyForxM
https://dl.doubtnut.com/l/_8ZeqznOBSVT3
https://dl.doubtnut.com/l/_eVkaeeQvimfR

17. Starting from boric acid how can you prepare ethyl

borate.

° Watch Video Solution

Solved Wbchse Scanner

1. What is producer gas? Write down the reactions for

the production of this gas.

° Watch Video Solution



https://dl.doubtnut.com/l/_eVkaeeQvimfR
https://dl.doubtnut.com/l/_8HuHLWWTStqA
https://dl.doubtnut.com/l/_dCny2e4sas0q
https://dl.doubtnut.com/l/_uFeXDRFidQhd

2. How can you separate CO from a mixture of CO

and COZ?

° Watch Video Solution

3. Write the formula of following ore: bauxite

° Watch Video Solution

4. Mention the use of Borax.

° Watch Video Solution



https://dl.doubtnut.com/l/_uFeXDRFidQhd
https://dl.doubtnut.com/l/_nE3v5kJ4eVKU
https://dl.doubtnut.com/l/_dYvLBX227IYw

5. Anhydrous aluminium chloride cannot be prepared

by heating hydrated aluminium chloride. Why?

o Watch Video Solution

6. A white precipitate is formed when small amount of
a gas is passed through lime water. The precipitate
dissolves when excess of the gas is passed. What can
be the possible gases? How would you identify the

gases?

° Watch Video Solution



https://dl.doubtnut.com/l/_uSZmbn9I4Rhm
https://dl.doubtnut.com/l/_w6lquoD5Lpqh

7.Name the chemicals required for preparation of CO
in the laboratory. Give equation(s) for the reaction(s)

involved.

° Watch Video Solution

8. Write the chemical equation for the manufacture of

urea.

o Watch Video Solution

9. Write the balanced equation(s) for the reaction

when excess C'O, is passed through brine saturated


https://dl.doubtnut.com/l/_KK8Zc7GBPcWc
https://dl.doubtnut.com/l/_h1uPyHyuvt7r
https://dl.doubtnut.com/l/_gWXZkIAGR6Nm

with NH;.

o Watch Video Solution

10. What is dry ice?

° Watch Video Solution

11. How is producer gas manufactured?

° Watch Video Solution

12. What is active charcoal? Mention one of its uses.

| =


https://dl.doubtnut.com/l/_gWXZkIAGR6Nm
https://dl.doubtnut.com/l/_beP7CKikTE3c
https://dl.doubtnut.com/l/_ZM7pwCO5NtzA
https://dl.doubtnut.com/l/_3UjOYY6BT2kF

| €9 Watch Video Solution

13. Which one is the hardest allotrope of carbon?

Answer with reason.

° Watch Video Solution

14. Why PbO, is oxidising?

° Watch Video Solution

15. Explain why TICl is known but Al Cl is not known.

° Watch Video Solution



https://dl.doubtnut.com/l/_3UjOYY6BT2kF
https://dl.doubtnut.com/l/_Fc6AabzPJqdP
https://dl.doubtnut.com/l/_zIcvQwXBBzYq
https://dl.doubtnut.com/l/_UDzyMaOOYveL

16. Which of the following is thermodynamically most
stable form of carbon? Coke, diamond, graphite,

fullerenes.

o Watch Video Solution

17. PbCl, is less stable than SnCl; while PbCl, is

more stable than SnCl,. Justify or contradict.

° Watch Video Solution



https://dl.doubtnut.com/l/_UDzyMaOOYveL
https://dl.doubtnut.com/l/_TgLgRjysuHbA
https://dl.doubtnut.com/l/_sW1UcTD5wIz5

18. Explain why C'Cl, is not hydrolysed while SiCl, is

hydrolysed.

° Watch Video Solution

19. What happens when borax is heated strongly?

o Watch Video Solution

20. Why are the dihalides of carbon unstable but the

dihalides of tin and lead are stable?

° Watch Video Solution



https://dl.doubtnut.com/l/_xN3ePmHB8OQe
https://dl.doubtnut.com/l/_7dFQbg7qaUQt
https://dl.doubtnut.com/l/_DnJ98FDbp9Dm

21. Why is the aqueous solution of borax alkaline?

o Watch Video Solution

22. What happens when at first lesser amount and

then excess amount of NaOH solution is added to

Aly(S0y), solution?

° Watch Video Solution

23. Explain with reason: SnCl, is a solid ionic

compound whereas SnCl, is a covalent liquid.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_WzBXut4hVT7l
https://dl.doubtnut.com/l/_0JHcI4Fe9KOO
https://dl.doubtnut.com/l/_0h4wdBznddhu

24. Explain the phenomenon: When phenolphthaline
is added to aqueous solution of borax the colour of
the solution turns pink which is again tum colourless

if glycerol is added to it.

° Watch Video Solution

25. What is inorganic benzene? How does it prepare?

State with conditions and equation.

o Watch Video Solution



https://dl.doubtnut.com/l/_0h4wdBznddhu
https://dl.doubtnut.com/l/_Ruk8Sg98dvcD
https://dl.doubtnut.com/l/_1epBoWNLcfoR

26. Why graphite is a conductor of electricity but

diamond is not?

° Watch Video Solution

27. Which of the following has a bridge bond-

A. water

B. inorganic benzene

C. phenol

D. diborane

Answer:



https://dl.doubtnut.com/l/_aI8oY4mjziYO
https://dl.doubtnut.com/l/_4w81OumY5czl

° Watch Video Solution

28. SiCl, undergoes hydrolysis, but CCl,; does not-

explain.

° Watch Video Solution

29. What happens when boric acid is mixed with

potassium bifluoride solution? Give equation.

° Watch Video Solution

30. Draw one canonical structure of CO..


https://dl.doubtnut.com/l/_4w81OumY5czl
https://dl.doubtnut.com/l/_QbZpfpdJJJqg
https://dl.doubtnut.com/l/_AN6Un9yxNphw
https://dl.doubtnut.com/l/_2sZ0PL0g8SD9

° Watch Video Solution

31. Explain why S§iCl4 undergoes hydrolysis easily.

o Watch Video Solution

32. Why aqueous solution of borax alkaline?

° Watch Video Solution

33. Why is carbon monoxide toxic?

° Watch Video Solution



https://dl.doubtnut.com/l/_2sZ0PL0g8SD9
https://dl.doubtnut.com/l/_mjeOBCk7KoJf
https://dl.doubtnut.com/l/_Zu42ql2NMaTy
https://dl.doubtnut.com/l/_iFJVrRukNyyW

34. Write the balanced chemical equation what
happens when aluminium is heated with

concentrated aqueous solution of caustic potash.

o Watch Video Solution

35. Write one use of each of Silicones and Zeolite.

° Watch Video Solution

Solved Ncert Exercise


https://dl.doubtnut.com/l/_NTXbH3GVTAv9
https://dl.doubtnut.com/l/_xuhYcSI1oPM0

1. Discuss the pattern of variation in the oxidation

states of B to TI.

° Watch Video Solution

2. Discuss the pattern of variation in the oxidation

states of C to Pb.

° Watch Video Solution

3. How can you explain higher stability of BCl3 as

compared to T'lCl3 ?

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_smeEE3fj2xbS
https://dl.doubtnut.com/l/_9PTwZ6PVQlYB
https://dl.doubtnut.com/l/_W9m3wNt0wNJ0

4.Why does boron triflouride behave as a Lewis acid?

o Watch Video Solution

5. Consider the compounds, BCl; and CCl,. How

will they behave with water? Justify.

° Watch Video Solution

6. 1s boric acid a protic acid? Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_W9m3wNt0wNJ0
https://dl.doubtnut.com/l/_UthzohPKvb9z
https://dl.doubtnut.com/l/_r9itx23asqGK
https://dl.doubtnut.com/l/_OZAzz7WB4dUK

7.Explain what happens when boric acid is heated.

° Watch Video Solution

8. Describe the shapes of BF; and BH, . Assign

the hybridisation of boron in these species.

o Watch Video Solution

9. Write reactions to justify amphoteric nature of Al.

° Watch Video Solution



https://dl.doubtnut.com/l/_bv7ecfpbXZ4y
https://dl.doubtnut.com/l/_Nphu7egnLgWR
https://dl.doubtnut.com/l/_SIhoYkGEzGhj
https://dl.doubtnut.com/l/_yaNlEm5u9Ih0

10. What are electron deficient compounds? Are BCl3

and SiCl, electron deficient species? Explain.

° Watch Video Solution

1. Write the resonance structures of

CO:~ and HCOj; .

° Watch Video Solution

12. What is the state of hybridisation of carbon in

CO:™ ?

° Watch Video Solution



https://dl.doubtnut.com/l/_yaNlEm5u9Ih0
https://dl.doubtnut.com/l/_F6gislcCTLiW
https://dl.doubtnut.com/l/_pOm92MCh3avv

13. What is the state of hybridisation of carbon in

diamond ?

° Watch Video Solution

14. What is the state of hybridisation of carbon in

graphite?

° Watch Video Solution

15. Explain the difference in properties of diamond

and graphite on the basis of their structures.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_qJ3vjGce3VPp
https://dl.doubtnut.com/l/_dAMwK46tM8jD
https://dl.doubtnut.com/l/_IQo09ETkjVpo

16. Rationalise the statement and give reaction :

Lead () chloride reacts with Cl, to give PbCl,.

o Watch Video Solution

17. Rationalise the statement and give reaction :

Lead (1V) chloride is highly unstable towards heat.

° Watch Video Solution

18. Rationalise the statement and give reaction :

Lead is known not to form an iodide, Pbly.


https://dl.doubtnut.com/l/_IQo09ETkjVpo
https://dl.doubtnut.com/l/_ZrPumxThGmVw
https://dl.doubtnut.com/l/_ET6PTN0Sq2LZ
https://dl.doubtnut.com/l/_8heUy6HiDLjU

° Watch Video Solution

19. Suggest reasons why the B-F bond lengths in BFj

(130 pm) and BF, (143 pm) differ.

° Watch Video Solution

20. If B-Cl bond has a dipole moment, explain why

BCll3 molecule has zero dipole moment.

° Watch Video Solution



https://dl.doubtnut.com/l/_8heUy6HiDLjU
https://dl.doubtnut.com/l/_IX5LGSm8mTzk
https://dl.doubtnut.com/l/_juIf8IAvwcnt

21. Aluminium trifluoride is insoluble in anhydrous HF
but dissolves on addition of NaF. Aluminium
trifluoride precipitates out of the resulting solution

when gaseous BFj is bubbled through. Give reasons.

° Watch Video Solution

22.Suggest a reason as to why CO is poisonous.

o Watch Video Solution

23. How does the increase in the amount of CO, in

the atmosphere lead to global warming ?


https://dl.doubtnut.com/l/_kvM4mdn0Bq4e
https://dl.doubtnut.com/l/_7Xy23M2Exzfs
https://dl.doubtnut.com/l/_Z7lW8QNlemCl

° Watch Video Solution

24. Explain structures of diboroane and boric acid.

o Watch Video Solution

25. What happen when

Borax is heated strongly.

° Watch Video Solution

26. What happens when

Boric acid is added to water.


https://dl.doubtnut.com/l/_Z7lW8QNlemCl
https://dl.doubtnut.com/l/_Ep6XiL6K4Iav
https://dl.doubtnut.com/l/_ISzhoWvJ7oxZ
https://dl.doubtnut.com/l/_PGdbLEwPnIhk

° Watch Video Solution

27. What happens when

Aluminium is treated with dilute NaOH.

° Watch Video Solution

28. BF; is reacted with ammonia?

o Watch Video Solution

29. Explain the following reaction Silicon is heated

with methyl chloride at high temperature in the


https://dl.doubtnut.com/l/_PGdbLEwPnIhk
https://dl.doubtnut.com/l/_vBNyFJcNETey
https://dl.doubtnut.com/l/_nLXYZ6dGgslw
https://dl.doubtnut.com/l/_M70Weg0fsdic

presence of copper.

o Watch Video Solution

30. Explain the following reaction : Silicon dioxide is

treated with hydrogen fluoride.

° Watch Video Solution

31. Explain the following reaction : CO is heated with

Zn0O.

° Watch Video Solution



https://dl.doubtnut.com/l/_M70Weg0fsdic
https://dl.doubtnut.com/l/_N2KUW4orltwB
https://dl.doubtnut.com/l/_D16PpIUId12L
https://dl.doubtnut.com/l/_jpNyiJjA5Ugg

32. Explain the following reaction : Hydrated alumina

is treated with aqueous NaOH.

o Watch Video Solution

33. Give reasons
Conc. HNO3 can be transported in aluminium

container.

o Watch Video Solution

34. Give reasons

A mixture of dilute NaOH and aluminium pieces is


https://dl.doubtnut.com/l/_jpNyiJjA5Ugg
https://dl.doubtnut.com/l/_3gLuE1k0kEwU
https://dl.doubtnut.com/l/_n4v9eWnSgVEU

used to open drain.

o Watch Video Solution

35. Give reasons

Graphite is used as lubricant.

° Watch Video Solution

36. Give reasons

Diamond is used as an abrasive.

° Watch Video Solution



https://dl.doubtnut.com/l/_n4v9eWnSgVEU
https://dl.doubtnut.com/l/_s8i0SMU9ZtxB
https://dl.doubtnut.com/l/_rzm7DZRZBDYl
https://dl.doubtnut.com/l/_NfEJLpBedYwM

37. Give reasons

Aluminium alloys are used to make aircarft body.

° Watch Video Solution

38. Give reasons
Aluminium utensils should not be kept in water

overnight.

o Watch Video Solution

39. Give reasons

Aluminium wire is used to make transmission cables.

| & S |


https://dl.doubtnut.com/l/_NfEJLpBedYwM
https://dl.doubtnut.com/l/_Q6zgI1KlEQpe
https://dl.doubtnut.com/l/_llK9wMbXu2Dx

[ W Watch Video Solution J

40. Explain why is there a phenomenal decrease in

ionisation enthalypy for canbon to sillican ?

o Watch Video Solution

41. How would you explain the lower atomic radius of

Ga as compared to Al ?

° Watch Video Solution



https://dl.doubtnut.com/l/_llK9wMbXu2Dx
https://dl.doubtnut.com/l/_im6PK5C4sXgw
https://dl.doubtnut.com/l/_5MPn4KuHhgFy

42. What are allotropes ? Sketch the structure of two
allotropes of carbon of structure on physical

properties of two allotropes ?

° Watch Video Solution

43. Classify following oxides as neutral, acidic, basic or

amphoteric

CO, B,0s3, Si0O4, CO5, Al;O3, PbO,, T1,05.

° Watch Video Solution



https://dl.doubtnut.com/l/_tKnt74SC23vW
https://dl.doubtnut.com/l/_gr2hXuivGRPH

44, Write suitable chemical equations to show their

natural.

o View Text Solution

45. In some reactions thallium resembles aluminium,
whereas in others it resembles with group - | metals.

Support this statement by giving some evidences.

o Watch Video Solution

46. When metal X is treated with sodium hydroxide, a

white precipitate (A) is obtained, which is solubel in


https://dl.doubtnut.com/l/_SUGzDUueu9wY
https://dl.doubtnut.com/l/_gLX3ps6aOAi7
https://dl.doubtnut.com/l/_vsnkZQlsHDrC

excess of NaOH to give soluble complex (B).
Compound (A) si soluble in dilute HCl to form
compound (C ). The compound (A) when heated
strongly gives (D), which is used to extract metal.
Identify (X), (A), (B), (C ) and (D). Write suitable

equations to support their identities.

o Watch Video Solution

47. What do you understand by inert pair effect ?

o Watch Video Solution

48. What do you understand by allotropy ?


https://dl.doubtnut.com/l/_vsnkZQlsHDrC
https://dl.doubtnut.com/l/_PwO1HgavxC8B
https://dl.doubtnut.com/l/_ZdSPA3gmxt5s

° Watch Video Solution

49. What do you understand by catenation ?

o Watch Video Solution

50. A certain salt X, gives the following result.

Its aqueous solution is alkaline to litmus.

o Watch Video Solution

51. A certain salt X, gives the following result.

It swells up to a glassy meterial Y on strong heating.


https://dl.doubtnut.com/l/_ZdSPA3gmxt5s
https://dl.doubtnut.com/l/_GaAYfgnjt1It
https://dl.doubtnut.com/l/_tPZpk9NMriJH
https://dl.doubtnut.com/l/_GvU85cogfHRl

° Watch Video Solution

52. A certain salt X, gives the following result.
When conc. HyS50, is added to a hot solution of X,
white crystal of a acid Z separates out. Write equation

for all the above reactions and identify X, Y and Z.

° Watch Video Solution

53. Write balanced equations for, BF3 + LiH —

o Watch Video Solution



https://dl.doubtnut.com/l/_GvU85cogfHRl
https://dl.doubtnut.com/l/_lwO7jV1VRlGy
https://dl.doubtnut.com/l/_mcroZc5t7SFl

54. Write balanced equations for, ByHg + H,O —

° Watch Video Solution

55. Write balanced equations for, NaH + By Hg —

° Watch Video Solution

A
56. Write balanced equations for, H3BO35 —

° Watch Video Solution



https://dl.doubtnut.com/l/_NSTf1yQBOoF7
https://dl.doubtnut.com/l/_TLNLxPIEtaJc
https://dl.doubtnut.com/l/_ORWUKBwmbuVE

57. Write balanced equations for, Al + NaOH —

° Watch Video Solution

58. Write balanced equations for, BoHg + NH; —

° Watch Video Solution

59. Give one method for industrial preparation and

one for laboratory preparation of CO and CO, each.

° Watch Video Solution



https://dl.doubtnut.com/l/_VRE4pcG5NYlP
https://dl.doubtnut.com/l/_zi0UQQ5AiERy
https://dl.doubtnut.com/l/_JppSmtveb769
https://dl.doubtnut.com/l/_FNP885sDitzo

60. An aqueous solution of borax is-

A. neutral

B. amphoteric

C. basic

D. acidic

Answer: C

° Watch Video Solution

61. Boric acid is polymeric due to-

A. its acidic nature


https://dl.doubtnut.com/l/_FNP885sDitzo
https://dl.doubtnut.com/l/_TcqFYDPkcrAn

B. the presence of hydrogen bonds
C. its monobasic nature

D. its geometry

Answer: B

° Watch Video Solution

62. The type of hybridisation of boron in diborane is -



https://dl.doubtnut.com/l/_TcqFYDPkcrAn
https://dl.doubtnut.com/l/_jtMYr4g49qaQ

D. dsp?

Answer: C

° Watch Video Solution

63. Thermodynamically the most stable form of

carbon is

A. diamond

B. graphite

C. fullerenes

D. coal


https://dl.doubtnut.com/l/_jtMYr4g49qaQ
https://dl.doubtnut.com/l/_tcbd8E3ofylf

Answer: B

o Watch Video Solution

64. Elements of Gr-14

A. exhibit oxidation state of +4 only

B. exhibit oxidation state of +2 and +4

C.form M?~ and M*" ions

D.form M2 and M*™ ions

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_tcbd8E3ofylf
https://dl.doubtnut.com/l/_E6u7RL2ztfl4

65. If the starting material for the manufacture of
silicones is RSiCl; , write the structure of the

product.

° Watch Video Solution

Higher Order Thinking Skill Hots Questions

1. Anhydrous aluminium chloride is used as a catalyst

and fumes in moist air. Explain these observations.

° Watch Video Solution



https://dl.doubtnut.com/l/_E6u7RL2ztfl4
https://dl.doubtnut.com/l/_ivincNZ6JkWD
https://dl.doubtnut.com/l/_DhbXvVw4m4rB
https://dl.doubtnut.com/l/_xLc2FdwVpwxT

2. 0ut of anhydrous AlCj5 and hydrated AICI3 , which

one is more soluble in diethyl ether and why?

° Watch Video Solution

3. When lead nitrate solution is added to an aqueous
solution of H5S , a black precipitate is obtained.
However, when lead nitrate solution is added to the
filtrate obtained by passing the solution of H,S
through activated charcoal, no black precipitate is

obtained. Explain these observations.

o Watch Video Solution



https://dl.doubtnut.com/l/_xLc2FdwVpwxT
https://dl.doubtnut.com/l/_eM1ci4jKxpTK
https://dl.doubtnut.com/l/_wF6PbYxW9XW6

4.CO is a poisonous gas while CO5 is not-why?

° Watch Video Solution

5. What is foarnite mixture? How can it extinguish

fire?

o Watch Video Solution

6. AIF5; does not dissolve in anhydrous HF but
dissolves in KF. When BF3 is added to the above
solution containing KF, aluminium trifluoride is

precipitated. Explain.

S~ 000 |


https://dl.doubtnut.com/l/_wF6PbYxW9XW6
https://dl.doubtnut.com/l/_bLMbtI3gxvHg
https://dl.doubtnut.com/l/_SMQBHJVaYo44

[ W Watch Video Solution J

7. Explain why carbon dioxide is a gas at room

temperature but silicon dioxide is a solid substance.

° Watch Video Solution

8. Why does Ga (+1) undergo disproportionation

reaction?

o Watch Video Solution



https://dl.doubtnut.com/l/_SMQBHJVaYo44
https://dl.doubtnut.com/l/_Bgg8PJbAKHGD
https://dl.doubtnut.com/l/_JksEv3nkmNQc

9.Unlike In™, TI" does not undergo disproportiona-

tion reaction-Explain.

° Watch Video Solution

10. Discuss the pattern of variation in the oxidation

states of B to TI.

° Watch Video Solution

11. Aluminium chloride exists as a dimer, but boron

trichloride does not. Explain.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_ZupHcofUOyiV
https://dl.doubtnut.com/l/_ldHKoHvHsPZm
https://dl.doubtnut.com/l/_KIJTpJPYdJbh

12. AlCl; is covalent but ionises in water-why?

o Watch Video Solution

13. BF; is a weaker Lewis acid than BCls, even

though F is more electronegative than Cl. Explain.

° Watch Video Solution

14.Sn(ll) is a reducing agent but Pb(ll) is not-why?

° Watch Video Solution



https://dl.doubtnut.com/l/_KIJTpJPYdJbh
https://dl.doubtnut.com/l/_WKFn2nWSpolq
https://dl.doubtnut.com/l/_AzFGSKEeUQfJ
https://dl.doubtnut.com/l/_g5iRSKPA6vtH

15. CO is stable but SiO is not-why?

° Watch Video Solution

16. [SiF5])°~ is known but [SiClg]> ™ is not. Why?

° Watch Video Solution

17. Explain why CCl, is resistant to hydrolysis but

SiCl4 undergo ready hydrolysis.

° Watch Video Solution



https://dl.doubtnut.com/l/_fFMTJhclr9rP
https://dl.doubtnut.com/l/_eCQtjLnIeONJ
https://dl.doubtnut.com/l/_SDXM3n0R7IEK
https://dl.doubtnut.com/l/_JF6liSsXUvAl

18. Discuss the pattern of variation in the oxidation

states of C to Pb.

° Watch Video Solution

19. What are aquadag and oildag? Mention their uses.

° Watch Video Solution

20. Which out of dil. H3S0O,, HCl and HNQO5 can be
used in the preparation of carbon dioxide from

PbCO;3 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_JF6liSsXUvAl
https://dl.doubtnut.com/l/_I20nuo4JpaqD
https://dl.doubtnut.com/l/_Y1IQ9GKk8vTk

21. Which properties are responsible for the extensive
use of aluminium in different industries? Write some

applications of aluminium.

° Watch Video Solution

22. No visible reaction is observed when Al metal is

left in contact with concentrated HNOQOj5 . Explain.

o Watch Video Solution

23. Thermite reaction cannot be stopped by pouring

water. Explain.


https://dl.doubtnut.com/l/_tcM4YEIxLrey
https://dl.doubtnut.com/l/_r2yGil32SDZA
https://dl.doubtnut.com/l/_ZivjKBzFUFjv

° Watch Video Solution

24. Why was lead sheets used on the floors in the

Hanging Gardens of Babylon?

° Watch Video Solution

25. Explain why HF is not stored in glass containers.

° Watch Video Solution

26. Explain why BF} exists whereas BH3 does not.

| ° Wlakdl .\t daa L iklam


https://dl.doubtnut.com/l/_ZivjKBzFUFjv
https://dl.doubtnut.com/l/_KlMf7qqQxZGv
https://dl.doubtnut.com/l/_2MEriiqYlkqt
https://dl.doubtnut.com/l/_UZZO4rkTqwU8
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Entrance Question Bank

1. Which of the following metals has the largest

abundance in the earth crust -

A. aluminium

B. calcium

C. magnesium

D. sodium

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_UZZO4rkTqwU8
https://dl.doubtnut.com/l/_D95K7lsz0x4h

2. For B(Cl3, AlCl3 and GaCls the increasing order

of ionic character is -

A. BCl3 < AlCl3 < GaCls

B. G&Clg < AlC’l3 < BClg

C. BCl; < GaCls < AlCl;

D. AlCI3; < BCl3 < GaCls

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_D95K7lsz0x4h
https://dl.doubtnut.com/l/_uKMbWxpeiKD5

3.In borax, the number of B -0 -B link and B -OH bonds

present are respectively-

A. five and four

B. four and five

C.three and four

D. five and five

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HOvWxBWUi4Xj

4. In diborane, the number of electrons that account

for f bonding in the bridges is-

A. six

B. two

C.eight

D. four

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OwRiY5ky53l8

5. The main reason that SiCly is easily hydrolysed as

compared to CCly is that -

A. Si-Cl bond is weaker than C-Cl bond

B. §iCl4 can form hydrogen bonds

C. SiCly is covalent

D. Si can extend its coordination number beyond

four

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_uc87j8U6SLaY

6. Which of the following ions cannot be formed by
boron-

A BF;}~

B.BH,

C. B(OH)4_

D. BO;

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Z9KEX9falRXK

7.Which of the following exists as covalent crystals in

the solid state-

A. phosphorus

B. iodine

C.silicon

D. sulphur

Answer: B

o Watch Video Solution

8. Which of the following are Lewis acids-


https://dl.doubtnut.com/l/_I38rsqjLLx89
https://dl.doubtnut.com/l/_cww1u7pwDraS

A. PH3; and SiCl,

C. PH; and BC(Cl;

D. AlCl3 and SiCl,

Answer: A

o Watch Video Solution

9. Which of the following oxide is amphoteric -

A. S’I’LOQ

B. CaO


https://dl.doubtnut.com/l/_cww1u7pwDraS
https://dl.doubtnut.com/l/_7LVCzN6Tilk6

C. Si0,

D.CO,

Answer: C

o Watch Video Solution

10. Which of the following statements is incorrect-

A. pure sodium disso | ves in liquid ammonia to

give blue solution

B. Na OH r eacts with glass to give sodium silicate


https://dl.doubtnut.com/l/_7LVCzN6Tilk6
https://dl.doubtnut.com/l/_27iLIHsUFoHn

C. aluminium reacts with excess Na OH to give
Al(OH),

D. NaHCOj3 on heating gives NayCOs

Answer: C

° Watch Video Solution

11. Name the two types of the structure of silicate in

which one oxygen atom of [$i0,]* "~ is shared -

A. linear chain silicate

B. sheet silicate


https://dl.doubtnut.com/l/_27iLIHsUFoHn
https://dl.doubtnut.com/l/_3PdhvbluE23D

C. pyrosilicate

D. three-dimensional

Answer: A

° Watch Video Solution

12. Which of these is least likely to act as a Lewis base

A. BF,

B. PF;

C.CO

D.F~


https://dl.doubtnut.com/l/_3PdhvbluE23D
https://dl.doubtnut.com/l/_xgdK2osNn3LI

Answer: B

o Watch Video Solution

13. Which of the following is electron deficient-

A. (BHj),
B. PH,
C.(CH;),

D. (SiHj3),

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_xgdK2osNn3LI
https://dl.doubtnut.com/l/_e1I5KRSCFIiY

14. Number of carbon atoms per unit cell of diamond

unit cell is -

Al

B.4

C.8

D.6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_e1I5KRSCFIiY
https://dl.doubtnut.com/l/_KAJ79jMDHFvy

15. Which of these is not a monomer for a high

molecular mass silicone polymer -

A. PhSiCl3

B. MBS’LClg

C. MGQS’I:Clg

D. Meg,SzC’l

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_YQIYKbn8PVrI

16. Which of the following structure is similar to

graphite -

A B, Hj

B. BN

C.B

D. B,C

Answer: A

o Watch Video Solution

17. The basic structural unit of silicate is -


https://dl.doubtnut.com/l/_jOBBQZWI6dRm
https://dl.doubtnut.com/l/_Es87oZz3c5fm

A SiO%~
B. S50~
C.Si0;~

D. Si03

Answer: C

° Watch Video Solution

18. The stability of +| oxidation state among Al, Ga, In

and Tl increase in the sequence-

A. Galt Inlt Al It Tl


https://dl.doubtnut.com/l/_Es87oZz3c5fm
https://dl.doubtnut.com/l/_9eYnKscI7ezb

B.AlIltGaltInIt Tl

C. Tllt Inlt Galt Al

D.In It Tl It Ga It Al

Answer: B

° Watch Video Solution

19. AlF3 is soluble in HF only in presence of KF. It is

due to the formation of-

A. K3 AlFg)

B. AlH,


https://dl.doubtnut.com/l/_9eYnKscI7ezb
https://dl.doubtnut.com/l/_j5rUjLHM0mo9

C. K[AIF;H]

D. K, ALF; H]

Answer: A

° Watch Video Solution

20. Boric acid is an acid because its molecule

A. gives up a proton
©
B. accepts O Hfrom water its molecule

C. combines with proton from water molecule

D. contains replaceable H -ion


https://dl.doubtnut.com/l/_j5rUjLHM0mo9
https://dl.doubtnut.com/l/_OaiJL4o2vUD8

Answer: B

° Watch Video Solution

21. It is because of inability of n? electrons of the
valence shell to participate in bonding that-
A. Sn? 7 is oxidising while Pb*™ is reducing
B.Sn?" and Pb*" are both oxidising and
reducing
C. Sn*™ is reducing while Pb** is oxidising

D. Sn?™ is reducing while Pb* " is oxidising


https://dl.doubtnut.com/l/_OaiJL4o2vUD8
https://dl.doubtnut.com/l/_Kknc7SwIeQiE

Answer: D

o Watch Video Solution

22. Which one of the following elements is unable to
form MF63_ ion-

A.ln

B. Ga

C.B

D. Al

Answer: C

r. e l


https://dl.doubtnut.com/l/_Kknc7SwIeQiE
https://dl.doubtnut.com/l/_J1dYwSiDA5Zv

| & vvaldil vViaco S01ution ]

23. The correct order of atomic radii in group-13

elements is-

ABltGaltAlltInItTI

B.BItAlltInltGaltTl

C.BltGaltAlltTlItIn

D.BItAlltGaltIn It TI

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_J1dYwSiDA5Zv
https://dl.doubtnut.com/l/_WElGCgwikgiN

24.The wrong statement about fullerene is-

A. it has 5-membered carbon ring

B. it has 6-membered carbon ring

C. it has s* hybridisation

D.it has 5-membered rings more than

membered rings

Answer: D

° Watch Video Solution

25. lodine oxidises sodium borohydride to give-


https://dl.doubtnut.com/l/_JKFImLlR3Hlk
https://dl.doubtnut.com/l/_lPLY4VpwICuP

A. BoHg
B. sodium hydride
C. Hl

D. I,

Answer: A

° Watch Video Solution

26. Which material is used as a neutron moderator-

A. graphite

B. cadmium


https://dl.doubtnut.com/l/_lPLY4VpwICuP
https://dl.doubtnut.com/l/_AYq3kQKLMTSl

C. boron

D. uranium

Answer: A

° Watch Video Solution

27. For silicone which is not correct -

A. it is a type of silicate

B. it is thermally unstable

C. it is hydrophilic

D. repeating unit is Ry570


https://dl.doubtnut.com/l/_AYq3kQKLMTSl
https://dl.doubtnut.com/l/_oES36q6QBuiv

Answer: A::B::C

o Watch Video Solution

28. Which of the following is not sp® -hybridised

A. graphite
B. graphene
C. fullerene

D. dryice

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oES36q6QBuiv
https://dl.doubtnut.com/l/_0ieHwAtXAzja

29. The pair of amphoteric hydroxides is -

A. Be(OH),, Al(OH),
B. Al(OH),, LiOH
C. B(OH),, Be(OH),

D. Be(OH),, Mg(OH),

Answer: A

° Watch Video Solution

30. Which of the following reactions does not take

place-


https://dl.doubtnut.com/l/_0ieHwAtXAzja
https://dl.doubtnut.com/l/_YMNTpJJEbOEN
https://dl.doubtnut.com/l/_m1FXIFf7wIdA

BF; +F~ — BF, .(l)
BF; + 3F “otBF}~ ..(Il)
AIF; + 3F~ — AIF?~ ..(n)
A. Only (1)
B. Only(Il)

C. Only(Il)

D. Only (1) and (Ill)

Answer: B

° Watch Video Solution

31. Select the correct options from the following


https://dl.doubtnut.com/l/_m1FXIFf7wIdA
https://dl.doubtnut.com/l/_KPCN7m4aNsGN

A. graphene is an atomic layer of graphite

B. graphene is an atomic layer composed of sp® -
hybridised carbon.

C.chemical bonds in graphite are similar in
strength to that of diamond.

D. all of these.

Answer: D

o Watch Video Solution

32. Among the following substituted silanes, the one

which will.give rise to cross-linked silicone polymer on


https://dl.doubtnut.com/l/_KPCN7m4aNsGN
https://dl.doubtnut.com/l/_plI1rrkZmGDG

hydrolysis is-

A. R3SiCl

B. R4St

C. RSiCls

D. R,SiCls

Answer: C

° Watch Video Solution

33. Hydride of boron occurs as By Hg but B5Clg does

not exist. This is because-


https://dl.doubtnut.com/l/_plI1rrkZmGDG
https://dl.doubtnut.com/l/_RU6qhVQBRYCh

A. pm — dm back bonding is possible in By Hg but

not in ByClg

B. boron and hydrogen have almost equal values

of electronegativity

C.boron and chlorine have almost equal atomic

sizes

D. small hydrogen atoms can easily fit in between

boron atoms but large chlorine atoms do not.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_RU6qhVQBRYCh
https://dl.doubtnut.com/l/_VvKCdn1BpWFp

34. Which of the given compounds does not react

with dilute , HCl at high temperature-

A. 5150,

B. PbSO,

C. BiOCl

D.CdSO,

Answer: B

° View Text Solution

Mcq Hotspot Single Correct Type


https://dl.doubtnut.com/l/_VvKCdn1BpWFp

1. Boric acid is basically a weak acid, but in presence of

which of the following compound, it behaves as a

stronger acid-

A. glycerol

B. acetic acid

C. ethanol

D. ethylene

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0EBheCJ0c6DT

2.The structure of diborane (B3 Hg) contains-

A. four 2c-2e bonds and four 3c-2e bonds
B. two 2c-2e bonds and two 3c-3e bonds
C.two 2c-2e bonds and four 3c-2e bonds

D. four 2c-2e bonds and two 3c-2e bonds

Answer: D

° Watch Video Solution

3. Which of the following element is used

temperature thermometry-


https://dl.doubtnut.com/l/_GPsR1oFwDA0e
https://dl.doubtnut.com/l/_zB9ThZXfnhxp

A Al

B. Ga

C.Hg

D.In

Answer: B

o Watch Video Solution

4. An important ingredient of pyrex glass is-

A.Zn

B. Pb


https://dl.doubtnut.com/l/_zB9ThZXfnhxp
https://dl.doubtnut.com/l/_GeZ6iovM9upD

C.B

D. Fe

Answer: C

° Watch Video Solution

5. Which of the following is the purest allotrope of

carbon-

A. Diamond

B. Fullerene

C. Graphite


https://dl.doubtnut.com/l/_GeZ6iovM9upD
https://dl.doubtnut.com/l/_1ojDOJCBClE3

D. Charcoal

Answer: B

° Watch Video Solution

6. Number of isomers possible for disubstituted

borazine, B3 N3 Hy X5 is -

A.3

B.4

C.5

D.6


https://dl.doubtnut.com/l/_1ojDOJCBClE3
https://dl.doubtnut.com/l/_atbf5EYWGuTQ

Answer: B

o Watch Video Solution

7. Pentaborane-9 (B5 Hy ) is an example of-

A. nido-borane

B. arachno-borane

C.closo-borane

D. pseudo-borane

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_atbf5EYWGuTQ
https://dl.doubtnut.com/l/_7oWADU1kXGlJ

8. Si when reacts with A forms B . A & B respectively

are -

A HF, H,SiF,

B. HF, H,SiF;

. HCl, H,SiCl,

D. HI, H,SiI;

Answer: B

° Watch Video Solution

9. Boric acid is a-


https://dl.doubtnut.com/l/_7oWADU1kXGlJ
https://dl.doubtnut.com/l/_7RnHfou4duUT
https://dl.doubtnut.com/l/_9dPzFBGdP0hK

A. monobasic and weak Lewis acid

B. monobasic and weak Bronsted acid

C. monobasic and strong Lewis acid

D. tribasic and weak Bronsted acid

Answer: A

o Watch Video Solution

10. Which of the following does not exist in free state-

A. BF;

B. BCl,


https://dl.doubtnut.com/l/_9dPzFBGdP0hK
https://dl.doubtnut.com/l/_4QTRYgfLrjo9

C. BB’I°3

D. BH,

Answer: D

° Watch Video Solution

11. Correct order of decreasing Lewis acid character is

A. BCl3 > AlCl3; > GaCls > InCl;

B. AICl3 > BCl3 > InCl3 > GaClj

C. AlCl3 > GaCls > BCl3 > InCl,


https://dl.doubtnut.com/l/_4QTRYgfLrjo9
https://dl.doubtnut.com/l/_naSYkIWBhgRX

D. InCl3 > GaC’l3 > AlClg > BClg

Answer: A

o Watch Video Solution

12. Which of the following is present in the chain
structure of silicate-

A (8i,0;7)

B. (5i0; ),

C.Si0;~

D. §i,05


https://dl.doubtnut.com/l/_naSYkIWBhgRX
https://dl.doubtnut.com/l/_jjHo54wzLGjA

Answer: B

° Watch Video Solution

13. A metal, M forms chlorides in +2 and +4 oxidation

states. Which of the following statements about

these chlorides is correct-

A. MCI, is more volatile than MCl,

B. M (', is more ionic than MCl,

C. MCly is more soluble in anhy. ethanol than

MCl,

D. MCl5 is more easily hydrolysed than MCl,


https://dl.doubtnut.com/l/_jjHo54wzLGjA
https://dl.doubtnut.com/l/_xGkYYyjtoC5B

Answer: B

o Watch Video Solution

14. The number of O-atoms that are shared per 5i0,

tetrahedra in silicate anion of beryl is-

A4

B.3

C.2

D.1

Answer: C

[ ﬂ Watch Video Solution ]


https://dl.doubtnut.com/l/_xGkYYyjtoC5B
https://dl.doubtnut.com/l/_3f3Nsf6QphsE

15. Which of the following on hydrolysis produces

cross-linked silicone polymer-

A. RSt

B. RSiCls

C. Ry, S:iCl,

D. R3S5iCl

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3f3Nsf6QphsE
https://dl.doubtnut.com/l/_9FQJNKfIqeTw

16. The antidote of poisoning caused by CO is-

A. carborundum

B. carbogen

C. carbonic acid

D. pure oxygen

Answer: B

° Watch Video Solution

17. Carbon suboxide on reaction with water produces-


https://dl.doubtnut.com/l/_kugraA2mPrhm
https://dl.doubtnut.com/l/_v9yGaWGNosEK

A. oxalic acid

B. formic acid

C. lactic acid

D. malonic acid

Answer: D

o Watch Video Solution

18. Volume of which liquid metal increases on

solidification-

A. Ga


https://dl.doubtnut.com/l/_v9yGaWGNosEK
https://dl.doubtnut.com/l/_f9eizsWKzYpQ

B. Al

C.Zn

D. Cu

Answer: A

° Watch Video Solution

19. Which of the following reacts only with alkali-

A. B,Os

B. Al203

C. GCLzOg


https://dl.doubtnut.com/l/_f9eizsWKzYpQ
https://dl.doubtnut.com/l/_1ip1FQ79pZK0

D. I’nzOg

Answer: A

o Watch Video Solution

20. Which is the strongest Lewis acid-

A BF,

B. BCl;

C. BB’I"g

D. BI;

Answer: D


https://dl.doubtnut.com/l/_1ip1FQ79pZK0
https://dl.doubtnut.com/l/_eTagApjzYddC

° View Text Solution

21. Atomic radius of Ga is slightly less than that of Al.

The reason is-

A. weaker shielding effect of s -electrons of Ga

B. stronger shielding effect of s -electrons of Ga

C. weaker shielding effect of d -electrons of Ga

D. stronger shielding effect of d -electrons of Ga

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_eTagApjzYddC
https://dl.doubtnut.com/l/_ovxXghy5wEDC
https://dl.doubtnut.com/l/_KzLvumUJupmm

22. Carbon does not form complexes, because-

A.vacant d -orbitals are absent in it

B. it is not a metal

C. its atomic radius is small

D. it is neutral

Answer: A

o Watch Video Solution

23. Super critical C'O, is used as-

A.dry ice


https://dl.doubtnut.com/l/_KzLvumUJupmm
https://dl.doubtnut.com/l/_MPg5rYsMelbp

B. fire extinguisher

C.a solvent for the extraction of organic

compounds from natural sources

D. inert solvent in various reactions

Answer: C

o Watch Video Solution

24. Stability of + 1 oxidation state increases in the

sequence-

A Al<Ga<In<Tl


https://dl.doubtnut.com/l/_MPg5rYsMelbp
https://dl.doubtnut.com/l/_HEyT4Ww2xiqD

B.Tl < In < Ga& It Al

C.In<Tl< Ga<Al

D.Ga<In< Al <Tl

Answer: A

° Watch Video Solution

25. Which of the following is acidic in nature-

A. B,Os

B. Al,O3

C. GCLzOg


https://dl.doubtnut.com/l/_HEyT4Ww2xiqD
https://dl.doubtnut.com/l/_CSzWtGneg8bm

D. Inz 03

Answer: A

o Watch Video Solution

26. Correct order of first ionisation enthalpy for Gr-13

elements is-

A.B gt Algt GagtIn gt Tl

B.BItAlltGaltInItTl

C.BltAlgtGaltingtTl

D.BgtAlltGagtIn It Tl


https://dl.doubtnut.com/l/_CSzWtGneg8bm
https://dl.doubtnut.com/l/_6HKi1Xke9lfq

Answer: D

o Watch Video Solution

27. Which of the following elements is not likely to be
the central atom in MF63_ -

A.B

B. Al

C. Ga

D.In

Answer: A

r. e l


https://dl.doubtnut.com/l/_6HKi1Xke9lfq
https://dl.doubtnut.com/l/_vHUvAVbEkWva

| & vvaldil vViaco S501ution ]

28. Tendency of catenation in Gr-14 elements follows

the order-

A.C gt Si gt Ge gt Sn

B.CgtgtSigtGe ~ Sn

C.Sigt Cgt Sn gt Ge

D.GegtSngtSigtC

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_vHUvAVbEkWva
https://dl.doubtnut.com/l/_FWs9IsruFd2J

29. The repeating structural unit in silicone is-

A. 510,

R

|
B.—Si — 0O —

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Yvj6ZkxmdWY1

30. Which of the following allotropic forms of carbon

is isomorphous with crystalline silicon-

A. Graphite

B. Coal

C. Coke

D. Diamond

Answer: D

o View Text Solution

31. The shape and hybridisation of B-atom of BH, is-


https://dl.doubtnut.com/l/_oc3qAAcFsS8G
https://dl.doubtnut.com/l/_nUOuJRshQfAu

A. pyramidal, sp®
B. octahedral, sp>d?
C. tetrahedral, sp?

D. None of these

Answer: C

o Watch Video Solution

32. Germanium is transparent in-

A. visible light

B. infrared region


https://dl.doubtnut.com/l/_nUOuJRshQfAu
https://dl.doubtnut.com/l/_KYrSlZgRNKmj

C. ultraviolet region

D. infraviolet region

Answer: B

° Watch Video Solution

33. The chain length of silicone polymer can be

controlled by adding-

A. MeSiCl;

B. M625i0l2

C. M63S’LCl


https://dl.doubtnut.com/l/_KYrSlZgRNKmj
https://dl.doubtnut.com/l/_ozjYAXpaXtSw

D. M€4S’i

Answer: C

o Watch Video Solution

34. Higher B-F (in BF3) bond dissociation energy as

compared to that of C-F (in C'F}) is due to-

A.stronger o -bond between B and F in BFj as

compared to that between Cand F in C'F}

B. significant pm — pm interaction between B and F

in BF3 whereas there is no possibility of such


https://dl.doubtnut.com/l/_ozjYAXpaXtSw
https://dl.doubtnut.com/l/_DggNurjrZbt2

interaction between C and F in CF}

C.lower degree of pmr — pm interaction between B

and F in BF}; than that between C and F in C'F}

D. smaller size of B -atom as compared to that of C

-atom

Answer: B

o Watch Video Solution

35. Reaction of diborane with ammonia initially gives-

A B,Hs. NH,


https://dl.doubtnut.com/l/_DggNurjrZbt2
https://dl.doubtnut.com/l/_BeqAqUF5TJEu

B. Borazole
C.BobHg3NH;

D. [BH,(NHs),| " [BH, ]

Answer: D

° Watch Video Solution

Oxidising Reducing A
36. CuO + B50s3 > X > Y s 7

flame flame

X, Y, Zand their respective colours are-

A.X = Cu(BO3), (blue), Y = Cus(BO),

(colourless) ,Z = Cu (red)


https://dl.doubtnut.com/l/_BeqAqUF5TJEu
https://dl.doubtnut.com/l/_cHJMWNK3fzFs

B.X = Cuy(BO,), (blue), Y = Cu(BO,),
(colourless), Z = Cu (Black)

C.X = Cu(BO,), (red), Y = Cuy(BO;), (blue),Z
= (red)

D.X = Cu (red), Y = Cu(BO,), (blue), Z =

Cuy(BO,), (colourless)

Answer: A

° Watch Video Solution

37. Correct formula of borax is-


https://dl.doubtnut.com/l/_cHJMWNK3fzFs
https://dl.doubtnut.com/l/_dHGLHa4wS9Oq

A. NCL2 :B4O4(OH)3] QHQO

B. Nay[B,O5(OH),].8H50

C. Na2 :B406(OH)5[] 7H2O

D. NCL2 [B4O7(OH)6} GHQO

Answer: B

o Watch Video Solution

38. Which of the following statements is correct-

A. Sn (II) and Pb (1V) salts are used as oxidants

B. Sn (II) and Pb (IV) salts are used as reductants


https://dl.doubtnut.com/l/_dHGLHa4wS9Oq
https://dl.doubtnut.com/l/_DZM7lhz8GE2e

C.Sn (Il) salts are used as oxidants and Pb (IV)

salts are used as reductants

D.Sn (ll) salts are used as reductants and Pb (IV)

salts are used as oxidants

Answer: D

o Watch Video Solution

39. SiCl, gets readily hydrolysed but C'Cl, does not,

because-

A. Si can expand its octet but C does not


https://dl.doubtnut.com/l/_DZM7lhz8GE2e
https://dl.doubtnut.com/l/_36SJmdJnIQeO

B. ionisation enthalpy of C is greater than that of

Si

C. C forms both double and triple bonds

D. electronegativity of C is greater than that of Si

Answer: A

o Watch Video Solution

40. PbCl, exists but PbBr, and Pbl, do not,

because-

A. chlorine is most electronegative element


https://dl.doubtnut.com/l/_36SJmdJnIQeO
https://dl.doubtnut.com/l/_ceag3qpAmG4a

B. bromine and iodine are larger in size

C.bromine and iodine cannot oxidise Pb 1 to

Pb4—|—

D.bromine & iodine are stronger oxidants than

chlorine

Answer: C

° Watch Video Solution

41. Which of the following resembles CO in terms of

physical properties-


https://dl.doubtnut.com/l/_ceag3qpAmG4a
https://dl.doubtnut.com/l/_3Snb9euzx2cC

A. O,

B.Cl,

D. F,

Answer: C

o Watch Video Solution

42. Which of the following statements is incorrect

A. most of the silicones are water repellents

B. silicones get dissociated at high temperature


https://dl.doubtnut.com/l/_3Snb9euzx2cC
https://dl.doubtnut.com/l/_N1qvHaMnBHFq

C.silicones do not get oxidised in air at high

temperatur

D.silicones are good thermal and electrical

insulator

Answer: B

o Watch Video Solution

43. Wollastonite is a-

A. chain silicate

B. three dimensional silicate


https://dl.doubtnut.com/l/_N1qvHaMnBHFq
https://dl.doubtnut.com/l/_h3E3SuvGFMUy

C. sheet silicate

D. cyclic silicate

Answer: D

° Watch Video Solution

44,
B(OH); + NaOH < NaBO, + Na[B(OH),| + H,O

’

The above reaction be made to proceed in forward

direction by-

A. addition of diol


https://dl.doubtnut.com/l/_h3E3SuvGFMUy
https://dl.doubtnut.com/l/_4c2BuwgBhvwI

B. addition of borax

C. addition of KHF,

D. addition of Nay, HPO,

Answer: A

° Watch Video Solution

45. Which of the following is correct-

A. Al(OH), is more acidic than B(OH),
B. B(OH), is basic but AI(OH), is amphoteric in

nature


https://dl.doubtnut.com/l/_4c2BuwgBhvwI
https://dl.doubtnut.com/l/_Im7bBCj07eML

C. B(OH), is acidic but AI(OH), is amphoteric
in nature

D.Both B(OH),; and Al(OH), are amphoteric

Answer: C

° Watch Video Solution

46. Which of the following is correct-

A. BoHg. 2N H3 is known as inorganic benzene

B. boric acid is a protonic acid

C. Be exhibits coordination number=6


https://dl.doubtnut.com/l/_Im7bBCj07eML
https://dl.doubtnut.com/l/_HnccnLnMWaSO

D. BeCly and AlCl3 have bridged chlorine

structures in solid phase

Answer: D

° Watch Video Solution

47.B cannot form B3™ ion, because-

A.formation of B3'T ion requires a greater
amount of energy and this cannot be obtained
from lattice energy or hydration energy

B. B is a non-metal


https://dl.doubtnut.com/l/_HnccnLnMWaSO
https://dl.doubtnut.com/l/_4K4tlUxdIpRY

C. B do not possess any vacant d -orbitals

D.B possess highest melting point among its

group members

Answer: A

° Watch Video Solution

48. Which of the following has the minimum heat of

dissociation-

A. (CH3)3N2 — BF3

B. (CH3)3NI — B(CH3)2F


https://dl.doubtnut.com/l/_4K4tlUxdIpRY
https://dl.doubtnut.com/l/_6qxTKSRZTGuy

C.(CH3),N: — B(CH,),

D. (CH3)3NI — B(CH?,)FQ

Answer: C

° Watch Video Solution

49. The correct statement with respect to CO is-

A. it combines with H5O to give carbonic acid

B. it reacts with haemoglobin

C. it acts only as a reducing agent

D. it cannot form adducts


https://dl.doubtnut.com/l/_6qxTKSRZTGuy
https://dl.doubtnut.com/l/_dTqubgdbhWKj

Answer: B

o Watch Video Solution

50. Foamite mixture consists of-

A. Al2(504)3 + N&HCOg
B. Al2(504)3 + N&zCOg
C. F62(504)3 + NCLQCOg

D. CuSO4 + NaHCOs

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_dTqubgdbhWKj
https://dl.doubtnut.com/l/_hSoaUslzTnna

51. In which of the following compounds, 3c-2e bond

is present-

A. Aly(CHj),
B. In(06H5)3
C. B, H

D. Al,Cl

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_hSoaUslzTnna
https://dl.doubtnut.com/l/_cZ1LuU1AgGIf

52. Which of the following oxides do not get reduced

by CO -

A.ZnO

B. F6203

C.CaO

D. NCLZO

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_F9WQGy3ClhlM

53. Which of the following are not isostructural with

CO, -

A. SnC’l2

C. SCl,

D. Z’I’LIQ

Answer: B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_0ZWtf7FwbrIU

54. C(OH,) is unstable but Si(OH), is stable.
Possible reasons are-

A.C-0O bond energy is low

B.C - O bond energy is high

C.Si- O bond energy is low

D. Si - O bond energy is high

Answer: A::D

o Watch Video Solution

55. Which of the following statements are correct-


https://dl.doubtnut.com/l/_T8Z2XqsMxvOn
https://dl.doubtnut.com/l/_IeHdGURyFeRC

A. fullerenes have dangling bonds

B. fullerenes are cage-like molecules

C. graphite is thermodynamically the most stable

allotrope of carbon

D. graphite is the purest allotrope of carbon

Answer: B::C

o Watch Video Solution

56.Boron trifluoride ( BF3) is-

A. an electron-deficient compound


https://dl.doubtnut.com/l/_IeHdGURyFeRC
https://dl.doubtnut.com/l/_mVtSg01DPo3M

B. a Lewis acid

C. an ionic compound

D. used as rocket fuel

Answer: A::B

° Watch Video Solution

57. Compounds which readily undergoes hydrolysis

are-

A. AlCI;

B.CCly


https://dl.doubtnut.com/l/_mVtSg01DPo3M
https://dl.doubtnut.com/l/_sUAOEDYw6JTm

C. SiCly

D. PbCl,

Answer: A::C::D

° Watch Video Solution

58. Which of the following compounds undergo

disproportionation in aqueous solution-

A.TICl3

B. GaCl

C.IndCl


https://dl.doubtnut.com/l/_sUAOEDYw6JTm
https://dl.doubtnut.com/l/_d2MGuSK47mO9

D. TICI

Answer: B::C

° Watch Video Solution

59. Me3SiCl is used during polymerisation of

organoisilicones because-

A. chain length of organosilicone polymers can be

controlled by adding MeSiCl

B. Me3SiCl blocks the end terminal of silicone

polymer


https://dl.doubtnut.com/l/_d2MGuSK47mO9
https://dl.doubtnut.com/l/_B5GVEDMbo6Tg

C. Me3SiCl improves the quality and yield of the

polymer

D. Me3SiCl acts as a catalyst during

polymerisation

Answer: A::B

o View Text Solution

60. Which of the following acids, on dehydration,

produce oxides of carbon-

A. succinic acid


https://dl.doubtnut.com/l/_B5GVEDMbo6Tg
https://dl.doubtnut.com/l/_wvKbsiKRoOEt

B. propanoic acid

C. malonic acid

D. formic acid

Answer: C::D

° Watch Video Solution

61. Which of the following are basic in nature-

A. B,Os

B.Tl,0

C. I’I’LgOg


https://dl.doubtnut.com/l/_wvKbsiKRoOEt
https://dl.doubtnut.com/l/_tVzzWNUpy2po

D. Al2 03

Answer: B::C

o Watch Video Solution

62. The linear shape of CO, is due to-

A. sp® - hybridisation of C
B. sp-hybridisation of C
C.pm — pm bonding between C and O

D. sp® -hybridisation of C

Answer: B::C


https://dl.doubtnut.com/l/_tVzzWNUpy2po
https://dl.doubtnut.com/l/_ob4d6hQHEFTn

° Watch Video Solution

63. Which metallic salts exhibit same colouration both

in oxidising and reducing flame in borax-bead test-

A. Fe

B. Mn

C.Co

D.Cr

Answer: C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_ob4d6hQHEFTn
https://dl.doubtnut.com/l/_NP61LTJevwcE
https://dl.doubtnut.com/l/_ykJyTKx95PTr

64. Which of the following two acidic substances

react to give an alkaline solution-

A H,B,O-

B. H; BO4

CHF

D. KHF,

Answer: B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_ykJyTKx95PTr

65. Which of the following are the ingredients of

baking powder-

A. NaOH

B. tartaric acid

C. formic acid

D. potassium hydrogen tartarate

Answer: B::D

o Watch Video Solution

66. Which of the following are sheet silicates-


https://dl.doubtnut.com/l/_blmnmldGKhUR
https://dl.doubtnut.com/l/_tSrLUo87wamA

A. diopside

B. kaolinite

C. talc

D. beryl

Answer: B::C

° Watch Video Solution

67. Identify the correct resonating structures-

AO-C=0

BO=C=0


https://dl.doubtnut.com/l/_tSrLUo87wamA
https://dl.doubtnut.com/l/_KXBUSWmjbzdC

co=C-0"

D. O-C=0"

Answer: B::D

° Watch Video Solution

68. Which of the following species are not known-

A. [SiClg]*~
B. [CFs]*~
C.[PbClg)* ™

D. [SiFg]*~


https://dl.doubtnut.com/l/_KXBUSWmjbzdC
https://dl.doubtnut.com/l/_J9sZvgTRiXhb

Answer: B::C

° Watch Video Solution

69. Which of the following are correct with respect to

Gr-14 elements-

A. stability of dihalides:

CXQ > S’LXz > G€X2 > S’I’LXQ

B.tendency to form pm — pmr multiple bond

increases down the group

C.tendency of catenation decreases down the

group


https://dl.doubtnut.com/l/_J9sZvgTRiXhb
https://dl.doubtnut.com/l/_KE0zOPVoTzBh

D. each of them forms oxide of the type MO,

Answer: B::C::D

° Watch Video Solution

Exercise Very Short Type Questions

1. Which two elements of group-13 form amphoteric

hydroxides?

° Watch Video Solution



https://dl.doubtnut.com/l/_KE0zOPVoTzBh
https://dl.doubtnut.com/l/_2x7OBNwB3Uai

2. What are the two stable natural isotopes of boron?

° Watch Video Solution

3. Which of the group-13 elements has the most

stable + 1 oxidation state?

o Watch Video Solution

4. Which of the Gr-13 elements forms only covalent

compounds?

o Watch Video Solution



https://dl.doubtnut.com/l/_uYb4GALK2UOK
https://dl.doubtnut.com/l/_WIhJF5gqabsy
https://dl.doubtnut.com/l/_jcassvRooEAA

5. The melting point of boron is very high, even

though it is a non-metal-why?

° Watch Video Solution

6. Which acid is obtained when an aqueous solution

of borax is acidified ?

° Watch Video Solution

7. Which are called boranes?

° Watch Video Solution



https://dl.doubtnut.com/l/_UGAoKsmdpvGt
https://dl.doubtnut.com/l/_q0S2pJU86Ewr
https://dl.doubtnut.com/l/_bALiQSk6yO02

8. What is the correct structural formula of borax?

° Watch Video Solution

9. What happens when orthoboric acid is heated till

red hot ?

o Watch Video Solution

10. What is inorganic benzene? Why is it called so?

° Watch Video Solution



https://dl.doubtnut.com/l/_wGyO1UwaJQAB
https://dl.doubtnut.com/l/_DDUiSgqjEqVO
https://dl.doubtnut.com/l/_UMvUIIidoiU0
https://dl.doubtnut.com/l/_jo9AWJwBttba

11. What is the common oxidation state of group-13

elements?

° Watch Video Solution

12. Write down the chemical composition of the
coloured compound obtained finally in borax bead

test?

o Watch Video Solution

13. Arrange boron halides in decreasing strength as

Lewis acid.

-y l


https://dl.doubtnut.com/l/_jo9AWJwBttba
https://dl.doubtnut.com/l/_eiexmOB93tOF
https://dl.doubtnut.com/l/_uUNVvTbsq1Rk

I ™ vvaldil viaco oS0Iution

14. How can boric acid form polymer?

° Watch Video Solution

15. Explain why BF63_ does not exist.

° Watch Video Solution

16. What is duralurnin? Mention its uses.

o Watch Video Solution



https://dl.doubtnut.com/l/_uUNVvTbsq1Rk
https://dl.doubtnut.com/l/_s9XWRVTZOYcL
https://dl.doubtnut.com/l/_zJvvbV3v69Ij
https://dl.doubtnut.com/l/_Sli65Vz4V63E
https://dl.doubtnut.com/l/_r4stIc6uTjqG

17. Cone nitric acid can be stored in an aluminium

vessel-why?

o Watch Video Solution

18. Borazine is more reactive than benzene-why?

° Watch Video Solution

19. Some metals are extracted from their oxides by

reducing with aluminium instead of carbon-why?

° View Text Solution



https://dl.doubtnut.com/l/_r4stIc6uTjqG
https://dl.doubtnut.com/l/_1EeLI2xHsrQx
https://dl.doubtnut.com/l/_GLkuA6wTamoj

20. Which out of CCl, and SiCl, reacts with water

and why?

° View Text Solution

21. What is water gas?

o Watch Video Solution

22. Carbon compounds are relatively less reactive-

why?

° Watch Video Solution



https://dl.doubtnut.com/l/_L18CcDouAJaO
https://dl.doubtnut.com/l/_qShWKP9Bs5MS
https://dl.doubtnut.com/l/_eAvHZGUEtLEk

23. Diamond is a non-conductor of electricity but a

good conductor of heat-why?

° View Text Solution

24. What is the value of dipole moment of carbon

suboxide and why?

° Watch Video Solution

25. Mention hybridisation state of carbon in

CO?~ and COs.

[ ° View Text Solution


https://dl.doubtnut.com/l/_8fpR0kF7MZYL
https://dl.doubtnut.com/l/_d9VlbfExJ0ej
https://dl.doubtnut.com/l/_zFpwYxWEJxsI

26. Write the name of a neutral oxide of carbon.

o View Text Solution

27.What is dry ice?

° Watch Video Solution

28. What is the basic structural unit of silicates?

° View Text Solution



https://dl.doubtnut.com/l/_zFpwYxWEJxsI
https://dl.doubtnut.com/l/_wYKv8I15XfOa
https://dl.doubtnut.com/l/_qV645EpamBOk
https://dl.doubtnut.com/l/_F3D7wEKoP5v2
https://dl.doubtnut.com/l/_BB055GJvCT7v

29. Write the general formula of silicones.

° View Text Solution

30. What is called the mixture containing 95% O, and

5% COy ?

° View Text Solution

31. What is the purest allotropic form of amorphous

carbon?

o View Text Solution



https://dl.doubtnut.com/l/_BB055GJvCT7v
https://dl.doubtnut.com/l/_FYtURbI8KSO3
https://dl.doubtnut.com/l/_UdK0JXLyfwOG
https://dl.doubtnut.com/l/_PEnxOhRozy0q

32. What is the molecular. mass of most available

natural fullerene?

° View Text Solution

33. Write names of two greenhouse gases.

° View Text Solution

34. What is ivory black?

° View Text Solution



https://dl.doubtnut.com/l/_PEnxOhRozy0q
https://dl.doubtnut.com/l/_6xJG0AeYuGdv
https://dl.doubtnut.com/l/_8cBk91njzcEh

35. Which out of carbon and silicon forms multiple

bond and why?

° View Text Solution

36. What is the anion present in pyrosilicates?

° View Text Solution

Fill In The Blanks

1. Boric acid is a acid and not a acid.

| o A\t avar Tawndk Caliikliam


https://dl.doubtnut.com/l/_8xSumzwOniKA
https://dl.doubtnut.com/l/_KdfNIlTCX2zm
https://dl.doubtnut.com/l/_DIaTQ4V81APi
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2. Due to T1l™" ion is more stable than n®*

ion.

° View Text Solution

3. Two types of bonds in diborane are covalent and

° View Text Solution

4. T jon acts as agent.

[ e~


https://dl.doubtnut.com/l/_DIaTQ4V81APi
https://dl.doubtnut.com/l/_knzfxJ9S9eki
https://dl.doubtnut.com/l/_SaLUo0BT8Xle
https://dl.doubtnut.com/l/_LxGIL5kHOUQj

| @ Watch Video Solution

5.AlCl3isa __ Lewis acid than BCl;.

° View Text Solution

6. BClsisa _ Lewis acid than BFj.

° View Text Solution

compound, but AICI; is a

o View Text Solution



https://dl.doubtnut.com/l/_LxGIL5kHOUQj
https://dl.doubtnut.com/l/_H6u4SQSx4r35
https://dl.doubtnut.com/l/_wYi5uE9r6SGX
https://dl.doubtnut.com/l/_UvfnM2t7XYNb

8. The hydrides of boron are called

° Watch Video Solution

9.Inorganic benzene is chemically known as _

° Watch Video Solution

10. Anhydrous aluminium chloride exists as a

o Watch Video Solution



https://dl.doubtnut.com/l/_UvfnM2t7XYNb
https://dl.doubtnut.com/l/_hBiTJgDepP5N
https://dl.doubtnut.com/l/_lw1alHiUvM0i
https://dl.doubtnut.com/l/_WQrYWcYqe8RE

1.When H3BQOj is strongly heated, is finally

obtained.

° View Text Solution

12. BN is a crystalline solid having structure similar to

° View Text Solution

13. On moving down the group, stability of +1
oxidation state of the members of boron family

, While that of +3 oxidation state


https://dl.doubtnut.com/l/_U9y2Sb0jjG3v
https://dl.doubtnut.com/l/_zfS0PoIKd2oR
https://dl.doubtnut.com/l/_x1DxDoZ0UFSM

° View Text Solution

14. Except all members of carbon family

exhibit allotropy.

° Watch Video Solution

15.5nCl, acts asa ____ agent.

° Watch Video Solution

16. Due to __, the +2 oxidation state of group 14

elements gradually becomes stable down the group.


https://dl.doubtnut.com/l/_x1DxDoZ0UFSM
https://dl.doubtnut.com/l/_I94gu5J1qdvo
https://dl.doubtnut.com/l/_RPnQSmCUnopE
https://dl.doubtnut.com/l/_FYY63lnmDsk7

° View Text Solution

17. Carbides which on hydrolysis product CH, are

called

° Watch Video Solution

18. The hydrides of silicon are called

° Watch Video Solution

19. is called 'sugar of lead'.

| ° Wlakdl .\t daa L iklam


https://dl.doubtnut.com/l/_FYY63lnmDsk7
https://dl.doubtnut.com/l/_xPRnJUMG9BTr
https://dl.doubtnut.com/l/_0JEzrbfs5KhC
https://dl.doubtnut.com/l/_W6YNjh1Ljcyo
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20. Formic acid on dehydration produces

o Watch Video Solution

21. Due to absence of carbon cannot form

complex.

° Watch Video Solution

22. Mica is an example of

° Watch Video Solution



https://dl.doubtnut.com/l/_W6YNjh1Ljcyo
https://dl.doubtnut.com/l/_IfKIDIlHQke2
https://dl.doubtnut.com/l/_ULNyu54AqG5j
https://dl.doubtnut.com/l/_1ff4OSro8aU6

23. PbCl, exists but does not.

o Watch Video Solution

24.0ut of COand CO,,  isused as a fuel.

° Watch Video Solution

25.Zircon (ZrSiOy) is an example of

° Watch Video Solution



https://dl.doubtnut.com/l/_1ff4OSro8aU6
https://dl.doubtnut.com/l/_L7Gs0NPb56hX
https://dl.doubtnut.com/l/_dfwpxWXAZhaM
https://dl.doubtnut.com/l/_bGEyBTMaMP62

26. In silicones, units are held by Si-O-Si

linkages.

° Watch Video Solution

27. Asbestos ( ) is a silicate mineral existing in

nature.

° Watch Video Solution

Short Type Questions


https://dl.doubtnut.com/l/_JQhX057ijfuy
https://dl.doubtnut.com/l/_yErqxTkyxh1P

1. Explain why the compounds of boron are called

electron deficient compounds.

° Watch Video Solution

2. Explain why BFj3 forms addition compound with

NH; .

° Watch Video Solution

3. Out of T'lCl3 and TICI, which one is more stable and

why?

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_CImOgoqQ3xNJ
https://dl.doubtnut.com/l/_Zbq9TYxMaqFK
https://dl.doubtnut.com/l/_PH4iWKDUDsZM

4. Out of InCl3 and In Cl, which one is more stable

and why?

° Watch Video Solution

5. Explain why boron does not form Bg_ ion.

o View Text Solution

6. BF3; is a weaker Lewis acid than BCl3 -why?

° Watch Video Solution



https://dl.doubtnut.com/l/_PH4iWKDUDsZM
https://dl.doubtnut.com/l/_oY3Dm5Ju7U1j
https://dl.doubtnut.com/l/_5PLqqMiYSsNu
https://dl.doubtnut.com/l/_HkjFCUidl6pG

7. How can you identify a cobalt salt by borax bead

test?

° Watch Video Solution

8. Comment on the shapes of BF3 molecule and

BF, ion.

° Watch Video Solution

9. Explain why aluminium vessel can be used for

storing concentrated nitric acid.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_qUwmeonU6lM5
https://dl.doubtnut.com/l/_aa2JIXqsSusA
https://dl.doubtnut.com/l/_ZYmVgZxmhbgC

10. Explain why melting and boiling points of boron is

much higher.

° Watch Video Solution

1. pm — pm back bonding occurs in the case of boron

halides but not in the case of aluminium halides-why?

° Watch Video Solution

12. AIF; is insoluble in anhydrous HF but dissolves

when NaF is added to the mixture-why?


https://dl.doubtnut.com/l/_ZYmVgZxmhbgC
https://dl.doubtnut.com/l/_LowsCEZqZ1ll
https://dl.doubtnut.com/l/_1SoRPqHKjQok
https://dl.doubtnut.com/l/_EDLOInmPiMeC

° Watch Video Solution

13. Metallic aluminium is frequently used as a
reducing agent in the extraction of Cr, Mn, Fe etc.-

why?

° Watch Video Solution

14.1s boric acid a protonic acid? Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_EDLOInmPiMeC
https://dl.doubtnut.com/l/_njC4onZigERH
https://dl.doubtnut.com/l/_c8QjxmK22r3N

15. When phenolphthalein is added to an aqueous
solution of borax, the solution becomes pink in
colour. However, when glycerol is added to the

solution, it becomes colourless again. Explain.

° Watch Video Solution

16. Explain why diamond is hard but graphite is soft.

o Watch Video Solution

17. Graphite is a conductor of electricity but diamond

is not-why?


https://dl.doubtnut.com/l/_e7LcsOgXcwR3
https://dl.doubtnut.com/l/_1aXBPTlhr6Mt
https://dl.doubtnut.com/l/_sd7Tak0Fyyh4

° Watch Video Solution

18. Explain why carbon monoxide is a poisonous gas.

o Watch Video Solution

19. SiCl4 undergoes easy hydrolysis but CCl, does

not undergo hydrolysis-why?

o Watch Video Solution

20. CO, gets absorbed in alkaline solution but CO

does not under ordinary conditions-why?


https://dl.doubtnut.com/l/_sd7Tak0Fyyh4
https://dl.doubtnut.com/l/_Ngskzoxa05Qd
https://dl.doubtnut.com/l/_riw5hnJDLEmX
https://dl.doubtnut.com/l/_QULEjsq4ITfz

° Watch Video Solution

21.CO is a superior fuel-why?

o Watch Video Solution

22. How will you get pure nickel using carbon

monoxide?

° Watch Video Solution

23. Explain why solid carbon dioxide is called dry ice.

| o Watch Video Solution


https://dl.doubtnut.com/l/_QULEjsq4ITfz
https://dl.doubtnut.com/l/_BdiRIygrHutk
https://dl.doubtnut.com/l/_kEovxrz9plfh
https://dl.doubtnut.com/l/_wMYJe4aqAa4C

24. Give example: Two solids combine to give a liquid.

o Watch Video Solution

25. Explain why diamond appears to be very bright

and lustrous.

o Watch Video Solution

26. (SiH3)4N is weaker base than (CHj),N- why ?

° Watch Video Solution



https://dl.doubtnut.com/l/_wMYJe4aqAa4C
https://dl.doubtnut.com/l/_snlQveALmrNr
https://dl.doubtnut.com/l/_1kJ5jSRc6Xr4
https://dl.doubtnut.com/l/_Hbk7mC8xbnkR

27.CO cannot be dried by concentrated sulphuric acid

-why?

° Watch Video Solution

28. N(CHj), is pyramidal but N(SiHs), is planar-

explain.

° View Text Solution

29. Carbon exhibits catenation property but lead does

not-why?



https://dl.doubtnut.com/l/_Hbk7mC8xbnkR
https://dl.doubtnut.com/l/_k669yftdUypK
https://dl.doubtnut.com/l/_lC4Uu7y8ntv0
https://dl.doubtnut.com/l/_xfMYL2ikHVM2

l o Watch Video Solution J

30. Which are called methanides?

o View Text Solution

31. (CH;3)3Si0H is more acidic than (CHj3),COH,
even though carbon is more electronegative than

silicon-explain.

° View Text Solution



https://dl.doubtnut.com/l/_xfMYL2ikHVM2
https://dl.doubtnut.com/l/_qrkDKrKafXwZ
https://dl.doubtnut.com/l/_o1au6DtpI50b

32. Silicon is unable to form structure like graphite-

why?

° Watch Video Solution

33. Mention one property of fullerene which differs

from that of diamond and graphite.

° Watch Video Solution

34. CO gets readily absorbed in ammoniacal silver

nitrate solution but CO, does not-explain.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_i1wZWhdLx36c
https://dl.doubtnut.com/l/_rhjhpsbJ1qjo
https://dl.doubtnut.com/l/_VpCED9dCmOAa

35. Which out of anhydrous and hydrous AlCl; is

more soluble in ether and why?

° Watch Video Solution

Long Type Questions

1.[SiFg)* ™ exists while [SiClg)*~ does not. Explain ?

o Watch Video Solution



https://dl.doubtnut.com/l/_VpCED9dCmOAa
https://dl.doubtnut.com/l/_01NnD6864xLa
https://dl.doubtnut.com/l/_XcEapqRkTAqm

2.TI(NOs3), acts as an oxidising agent. Explain ?

o Watch Video Solution

3. Boric acid can be titrated with sodium hydroxide
solution using methyl orange as indicator only in the
presence of polyhydroxy compounds such as catechol,

mannitol, etc . Explain ?

o Watch Video Solution

4. Four types of disubstituted borazine is possible.

Explain ?


https://dl.doubtnut.com/l/_OJjTUbZB4Kt1
https://dl.doubtnut.com/l/_cZYBJBMVQYAX
https://dl.doubtnut.com/l/_257IolVXWrOD

o Watch Video Solution

5. The aqueous solution of a salt (A) is alkaline. When
(A) is heated strongly, it swells up and melts to give a
transparent bead. When the bead is heated with a
sulphate salt (C), the bead becomes deep blue in
colour. A white crystalline compound (D) is obtained
when concentrated H, 50, is added to a hot solution
of (A). Identify (A), (B), (C) and (D) and give the

reactions involved.

° Watch Video Solution



https://dl.doubtnut.com/l/_257IolVXWrOD
https://dl.doubtnut.com/l/_z9XOIseHLamm

6. What happen when :

Boron tribromide is subjected to react with hydrogen.

° Watch Video Solution

7.What happen when :

Colemanite is heated with sodium carbonate.

° Watch Video Solution

8. What happen when :

Boron trifluoride is treated with Lt AlH,.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_94DKIyS1rov1
https://dl.doubtnut.com/l/_pLrGMp892ATU
https://dl.doubtnut.com/l/_MsHE4XfDeJET

9. What happen when :
Boric acid is heated with methanol and the vapours

formed are ignited.

° Watch Video Solution

10. PbO, is a strong oxidising agent than SnO,.

Explain ?

° Watch Video Solution



https://dl.doubtnut.com/l/_MsHE4XfDeJET
https://dl.doubtnut.com/l/_UVwmh1d2Xske
https://dl.doubtnut.com/l/_KjYbj04ewbWo

11. Silanes are small in number but alkanes are large

in number. Explain ?

° Watch Video Solution

12. PbC'l, readily dissociates on heating. Explain ?

° Watch Video Solution

13. The first ionisation enthalpy of C is higher than
that of B but its second ionisation enthalpyislower.

Explain ?

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_ELigAPRDSKI6
https://dl.doubtnut.com/l/_bViNb4kzqRkT
https://dl.doubtnut.com/l/_0m2JU13fg447

14.CO is a superiorfuelbut C'O, is not. Explain ?

° Watch Video Solution

15. When dilute HCl is added to a white substance (A),
a colourless gas (B) is evolved. When the gas (B) is
passed through clear lime water, a white precipitate (
C) is obtained. The precipitate dissolves when excess
of the gas (B) is passed through the lime water. The
residue obtained on heating the solid substance (A) is
yellow when hot but white when cold. When the gas

(B) is passed through red hot charcoal, another gas


https://dl.doubtnut.com/l/_0m2JU13fg447
https://dl.doubtnut.com/l/_I6ky3BTCoc1p
https://dl.doubtnut.com/l/_znaQTfEk6Qer

(D) is obtained. The gas (D) gets absorbed in
arnmoniacal cuprous chloride solution . Identify (A),

(B), (C) and (D) and give the relevant reactions.

° Watch Video Solution

16. Write with equation what happen when:

Silica is treated with hydrofiuoric acid.

° Watch Video Solution

17. Write with equation what happen when:

Water is added to calcium carbide.

[ o WMiakll. \NNdaa L.kl ]


https://dl.doubtnut.com/l/_znaQTfEk6Qer
https://dl.doubtnut.com/l/_3GksOHdwvNtl
https://dl.doubtnut.com/l/_r1IdISiOzPjB
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18. Write with equation what happen when:
Formic acid is heated with concentrated sulphuric

acid.

o Watch Video Solution

19. Write with equation what happen when:
CO, is heated with liquid ammonia at about 200° C

under 220 atmospheric pressure.

o Watch Video Solution



https://dl.doubtnut.com/l/_r1IdISiOzPjB
https://dl.doubtnut.com/l/_xqApYpGvU1br
https://dl.doubtnut.com/l/_PtVDXIjBOW5W
https://dl.doubtnut.com/l/_auHDNZdGpN7j

20. Write formulae of the following substances

Litharge.

o Watch Video Solution

21. Write formulae of the following substances

White lead.

° Watch Video Solution

22. Write formulae of the following substances

Carborundum.

o Watch Video Solution



https://dl.doubtnut.com/l/_auHDNZdGpN7j
https://dl.doubtnut.com/l/_0jIO4hG49AEd
https://dl.doubtnut.com/l/_MewyWEpieid9

23. Write formulae of the following substances

Red lead.

° Watch Video Solution

24. Write formulae of the following substances

Sugar of lead.

o Watch Video Solution

25. Write formulae of the following substances

Phosgene.

| &


https://dl.doubtnut.com/l/_MewyWEpieid9
https://dl.doubtnut.com/l/_EBERTAoRmhmq
https://dl.doubtnut.com/l/_0BN683Wzn6wH
https://dl.doubtnut.com/l/_7rsgc7aBt6eg

| & Watch Video Solution

26. Write formulae of the following substances

Asbestos.

o Watch Video Solution

Practive Set 11

1. How will you separate CO and CO5 from a mixture?

° Watch Video Solution



https://dl.doubtnut.com/l/_7rsgc7aBt6eg
https://dl.doubtnut.com/l/_lQfWBHAvp7uR
https://dl.doubtnut.com/l/_4rkLcvWnT54q

2. Diamond is effectively an electrical insulator while

graphite is a good conductor-why?

° Watch Video Solution

3. What is ammonal? Mention its use.

o Watch Video Solution

4. Although boric acid [B(OH),| contains three -OH

groups, yet it is sparingly soluble in water-why?

° Watch Video Solution



https://dl.doubtnut.com/l/_sL37bgYmpSJT
https://dl.doubtnut.com/l/_drIu8jkp9J75
https://dl.doubtnut.com/l/_cWXxyvugZw0V

5. Aqueous solution of B(Cl;3 is acidic in nature-why?

° Watch Video Solution

6. Why do nitrogen and carbon monoxide show

similarities in their physical properties?

o Watch Video Solution

7. Mention 3 similarities in the nature of B and Si.

° Watch Video Solution



https://dl.doubtnut.com/l/_7gmgXY5yGyhe
https://dl.doubtnut.com/l/_tiJJaKaFxXVh
https://dl.doubtnut.com/l/_ODSKXpTel7M0
https://dl.doubtnut.com/l/_d3wL3PqfgEr5

8. If B-Cl bond has a dipole moment, explain why BCl;

molecule has a zero dipole moment?

° Watch Video Solution

9. Write chemical equation for the preparation of

urea.

° Watch Video Solution

10. Mention the use of borax.

o Watch Video Solution



https://dl.doubtnut.com/l/_d3wL3PqfgEr5
https://dl.doubtnut.com/l/_wsIUlO7gA0kP
https://dl.doubtnut.com/l/_szUrImG67Njr
https://dl.doubtnut.com/l/_EQeCMS8mY8IZ

11. When metal X is treated with sodium hydroxide, a
white precipitate A is obtained, which is soluble in
excess of NaOH to give soluble complex B. Compound
A is soluble in dilute HCl to form compound C. The
compound A when heated strongly gives, D which is
used to extract metal . Identify X, A, B, C and D. Write

suitable equations to support their identities.

° Watch Video Solution

12. What happen when :
A mixture of sand and sodium carbonate is melted on

heating.

[ ° Wiak~h \NAdAan Caliikian



https://dl.doubtnut.com/l/_EQeCMS8mY8IZ
https://dl.doubtnut.com/l/_G0XR8slrfgEJ

 § A A K- LA IR ALSA\VAr® lYAL"RLY20 J

13. What happen when :
At 200° C and under high pressure, carbon monoxide
is passed through caustic soda solution and the

product is heated to 300° C.

o Watch Video Solution

14. What happen when :

S10, is treated with HF.

o Watch Video Solution



https://dl.doubtnut.com/l/_G0XR8slrfgEJ
https://dl.doubtnut.com/l/_QuIV1yIU8b4V
https://dl.doubtnut.com/l/_zB8Fz10Qf0LR
https://dl.doubtnut.com/l/_U9uQJFgMxwxK

15. Anhydrous aluminium chloride cannot be prepared

by heating hydrated aluminium chloride. Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_U9uQJFgMxwxK

